STATISTICS & DATA
INTERPRETATION (D.1.)
(i@t a2 gHd1I B A=)

Directions(1-4):- A motorist and a scooterist made a jour- 5. The difference in percentage between the

ney of 120 km at the same time and from the same place. accidents involing two-wheelers and other objects
The graph shows the progress of the journey made by is respectively.
each person. St:ldy the graph and answer the questions. & ohe e o ar e g o el Wm & e fre
wfw w1 AR B Ve
120 » (a) 77% more (b)¢ 7?% loss
(c) 54% more (d), %4?f less

.....

6. 60% of the accidents “Are" 1molved due to

Hel ST H m%ﬁmaﬁ@ﬂmm
(a)cars, buses, tanlger lorry and pedestrians

80

Distance{in km)
.
o

%,

R

)

=

< (b) cars, tan’fger lorry, bicycles and stationary
' vehdes
9:00!9230 10:00 10:30 IIIZOO £1?30 i o L
o Aw e e NG (c) twetw -eelers cars, buses and stationary
i - Vehrcl‘es ;

1. At what time did the motorist meet the scooterist ? P

forg W T R WEREE AT, e TeE o e Cﬂm&wheelem cars, buses and tanker lorry.
ol :Lf,,th‘é data of the bar diagram is represented by a

(a) 10: 30 am (b) 10: 45 am : _

(¢) 10: 15 am (d) 10 : 20 am pie-chart, and the angle of a sector of the pie-chart
2. What was the speed of the scooterist dumng tlfe". is 36°, then this sector represents the accidents

journey ? [1n kmph) involving

mmaﬁ'mmwaﬂnﬁrml(hnphf@ afs o T AR AF W UE AR F FIW IWEN S SR

(a) 45 (b) 48 (c) 42 (d)..¥6 ;- -9 W IR 9T TF w7 36° ¥ @ 99 a8 HiA §t
3. The scooterist completes the journey ( in hours] )

Thet Ao R A fEa = A wmm g e F WA

1 L * 1 (a) pedestrians (b) bicycles
(a)3 (b) 2 (c) 5’3’2_ ) (d) 35 (c) buses (d) stationary vehicles.

8. The percentage of accidents in which pedestrians

4. How far from the start, didthe’ motorist meet the ) i )
" d and cyclists are involved 1s

scooterist? (in km)

%mwmﬁ%ﬂ@mﬁgwﬁﬁm(mﬁ} few e WER W B el geme 1 % fra @

(a) 75 (b) Zﬁﬂy ™ {c) 90 (d) 80 (a) 24% (b) 6% (c) 60% (dj 20.4%
Directions(5-9): The, fglfowmg is a horizontal bar dia- 9. the percentage by which the accidents involving
gram shouﬂngy,the atbedents inswhich twoewhedlers are buses. is less than the accidents involving tanker
involved with’ mher objects. Study the diagram and lorry is
answer the qucstLon a9 BN B arelt el &N g1 g areft gEeed | fwad

% FH I
OBJECTS HIT o o . .
Two-wheelers [TTTTTTIT111] (=) )<kt et Gl
Cars 1l Directions(10-14): The bar chart given below shows
Buses the percentage distribution of the production of various
Tanker lorry [TTTTT1111 : : .
. models of a mobile manufacturing company in 2007

Pedestriats [T and 2008. The total production in 2007 was 35 lakh

Bicycles OO 117171] : : :

Statiotis EREEE mobile phones and 1n 2008 the production was 44 lakh.

Vehiel 4 Study the chart and answer the following questions.
ehicles [0 Represents 20
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Percentage of six different types of mobiles
manufactured by a company over two year

F  Legend
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2007 2008
10. Total number of mobiles of models A, B and E manu-

factured in 2007 was
a4 2007 ® wied AB e E &1 ol ScRA fha #
(a) 24,50,000 (b) 22,75,000
(c) 21,00,000 (d) 19,25,000
11. For which models was the percentage variation
in production from 2007 to 2008 the maximum?
fr= 91 9 form T =1 ad 2007 € 2008 @ IeEA wfava
s siferRam 2
(a) B and C
(c)Dand E
12. What was the difference in the number of B { EE
mobiles produced in 2007 and 2008 ? )"f‘fw

Bmﬁmmmaﬁmﬁaﬁzoo?wahoaﬁ

(b) C and D

fepam A =2 fr\::,,,é
(a) 3,55,000 (b) 2,70,000 &
(c) 2,25,000 (d) 1,75,000

13. If the percentage productiofi ofi X type mobiles in
2008 as same as that 111320?’;7 then the number of
A type mobiles prod ﬁqn 2008 would have been
uﬁAma?'-r{aﬁameSam 2007 ¥ e wfaem
HAM B A I 20 ﬁ{?})ﬁﬂ?ﬂzﬁﬂ'ﬂﬁfﬂ’['ﬁmm 1)

(a) 14,00, OO ) (b) 13,20,000
(c) 11,70 \° » (d) 10,50,000
14. If 85% %hé ies type mobile produced in each year

were sold by the company, how many D type mo-
biles remained unsold?

afe yfaad seafed g9 ot D YR % TE #t 9@ H 85%
94 T =i 2 9 9ad D Uk & HiaEa S el 59 ™ F R/

W = B
(a) 76,500 (b) 93,500
(c) 1,18,500 (d) 1,22,500

Directions(15-17) : In the following questions, study
the two pie-charts and answer the questions.

info@spardha.guru

(d) A and B A~
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APRIL. MONTS'S SALARY : " 24000

A - Education
C - Grocery

B - Savings
D- Electricity and Phone Bills
E - Miscellaneous

MAY MONTS'S SALARY @OD

A N/

¢ Ly
15. Whatﬁ/;l;he percent increase in Eduction in May
gnonth «ﬂlan April month ?
,«féﬁaw?ﬁwﬂ ¢ fo A %308 @
& o%56% (b) 12.35% (o) 20% (d) 10.82%
The ratio of amount spent for savings in April
month's salary and miscellaneous in May month’s

salary is

o7l W 1 A9 § 9 F1 T w=a aon 72 e # 4q9 § 9 fafay
o % A I g

(a) 216 : 25 (b) 217 : 26

(c) 205 : 13 (d) 235 : 50

17. From the salary of May, the amount spent on Gro-
cery and Electricity are:
w e § o907 | Uy qur faset w e ' fwa mm
(a) ' 6250, " 3360 (b) " 960, ' 5040
() " 3500, " 2250 (d) 2160, " 480
Directions(18-19):- Various expenditures incurred
by a publishing company for publishing a book in
2011 are given below. Study the chart and answer
the questions.

|’ 1197
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18.

19,

Price of a book i1s 20% above cost price. If there
marked price is ' 180, then the cost of paper for a
single copy () 1is.

TEE F1 AHd FHd 41 @ ged § 20% st 21 afg st
FAd " 180 Fl, d TF ufd Ffh & A0 Fra 1 @r Jed =ad)
(a) 44.25  (b) 36 (c) 22.50  (d) 42
Royalty of a book is less than the printing cost by
TEE H Aaed, BUE Tod 9 fFat % w9

1
(a) 25% (b) 5% (c) 335% (d) 20%

Directions(20-22): Fie-charts show the expenses on
various heads show the expenses on various heads in
construction of a house. Study the pie-chart

20.

21.

22.

1991

Miscellaneous items

2001 .
Miscellaneous items

Labour
100°

7))
N K_J
What percentage of the total amount gais\,Js).e.lsa.’lg spent

on cement in 1991°? f:;:;’“
79 1991 ¥ e m F= = fen Tm
(a) 18% (b) 30% [c] 7 o (d) 60%

The percentage increase rrh amount spent on
labour from 1991 to @&lﬁ given that the total
amount spent on t constructwn of the house is

* 360000 in 1991 64000 in 2001 is;
afg wh = ?ﬁ
ﬁ am 86400 T

1991 ¥ * 360000 @&r 5§ 2001
T 8, = ad 1991 % 2001
\,ﬂ ’ﬁam % @t FEgrad gl

X

1 1 2 2
(a) 36% (b) 435% (c) 415% (d) 1665%

If the total cost of constructing the house is
*3,60,000 in 1991 and ' 8,64,000 in 2001, what is
the amount spent on Steel in 1991 and 2001 ?

gfe 9o fmior #f %1 @@ 38 1991 % °3,60,000 v =4

2001 ¥ «rma " 8,64,000 & df sad a4 1991 a1 2001 H

T W fRm v wd fmm
(a) *2,16,000, * 4,32,000 (b)
(c) * 80,000, * 2,10,000 (d)

* 60,000, * 84,000
* 50,000, * 1,44,000
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Directions(23-24):-

The graph given below shows the

daily income of 50 workers in a factory. Study the graph

and answer the questions.

23

24.

[ﬁ;}ectlons(QS -26):

f r”\‘J:r«tinswer the questions.

25;
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26.

Y A
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wow Nl
— o
5 “ N il
—— >
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Da%ﬂc\?me lin ) —>
What perc%ﬁghﬁf the factory workers earn

between | and ' 180 ?
fomert % ‘ot 150 qen * 180 % A FR ¥
(@) 6%,..) (b) 16%  (c) 12% (d) 20%

The rne an wages in the factory is

/%;r{gﬁ W gegll 1 dma 9 A €
140 (b) *138 (¢ 150 (d) " 160
Study the following graph and

Company Profile

o (2000-2005)

1D ==
1.50 =
1.25 —

1.0—

Ratio of Income to Expenditure

T L] :
2003 2004 2005

Year —>
Find the percentage decrease in income from 2001
to 2002.
2001 T 2002 9% 2ma ¥ fad % Hor E
(a) 50% (b) 33%
(c) 25% (d) Data inadequate
If the income show positive growth every year
throughout the period(2000-2005), then in how
many yvear the expnditure shows a positive growth?

THATaaE (2000-2005) % 4fF gds 94, uAes o 9fs

L) L) T
2000 2001 2002
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el € @ wad e ool °§ = v 9fg e 2

(a) 5 (b) 3 (c) 4 (d) 2
Directions(27-28): Study the following graph and an-
swer the questions.

225 1—

¢ Company X
-8 Company Y

2.0 —

8 B

[y
[ 4]

L
[\ ]
w

Ratio of export to import
—
o

0.75
0.5 —
0.25 —
b N . . ;
oy T Ll Ll Ll T Ll
¥ 2005 2006 2007 2008 2009 2010
Year —

27. If the imports of company X in 2007 were increased
by 40% what would be the ratio of exports to the
increased imports ?

Afe F=ert X @1 3 2007 § @ 40% 98 w1 8, qf fat
F ¢ g4 AW H FIUE daqd|
(@ 1.25 (b)) 1.75  (c) 0.25 (d) 0.75

28. In 2005, the exports of company X were double that
of company Y in that year. If the imports of com-
pany X during the year were

was the amount(in crore ) of imports of cornp@ny

Y during the year ? yf“v‘;

=¥ 2005 ﬂmﬁXmﬁqmmYﬂm%f’ﬂﬁWHéﬁ
FAAT X' H e 180 wlE o, a‘lm"gﬁ‘a&’mﬂ !
F | fman an C wE)
(a) 212 (b) 210

(c) 334 (d) 282

Directions(29-31): The prody '_’tldl_l ﬁ;gures of a perfume
manufacturer are given 1 't»he‘ orm of percentage in

sub-divided bar dlagrg,rrr -"Study the diagram and an-

Percentage

' 180 crores, whﬁt \. J
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29. What 1s the ratio of percentage production of rose

perfume during 1995 to that during the year 19972

¥, 1995¥ 1" WEH % T 1997 H Tem WA % & 91

A fRa 2

(a) 4: 3 (b)3:2 (€)2:3 (dS:4
30. What is the percentage of production of sandal

pefume during the year 1995 over that during 19977

4 1995 ® 9=7 wHH ®1 davm, 99 1997 § 9=4 TEE

% % o9 U R 2

(a) 100 (b) 1 (c) O (d) S0
31. What is the production of jasmine perfume in the

vear 1997 2 Given that during the year 1997 total

perfumed production was 5000 units.

gfg =, 1997 # |sft WHH F1 F 1 5000 3¢ 31

ad, 1997 & el T § fEa ‘

(a) 1200  (b) 2500 (o) \99@9 (d) 1500
Directions (32-33):- In ft,he*‘ following questions, a
graphical representation of insofne and expenditure of
5 persons during the fﬁﬁintﬁ ‘of January has been given.
Read the graph and éﬁsyer the questions.

gg&me U Expenditure

L e 8.75
1 & ) !‘>\.J ‘? *
st/ N N
T "”‘; 7.25 ‘%
T d S
| S
ﬂﬁh 6‘_‘3;09 *é-gs
il 55 N
g 1 o =
L= 5 5 B3
s dg S _ =
" = 1 y
Q= W1 SERS
fa o 3.5 = 3.5
g 34 3§
3 N
g T S
= =
2T =
=
T S
14+
1 S
o~
1st 2nd 3rd 4th 5th

Number of Persons —
32. What is the average income of five persons per month?

ol sEfied # sime mfgw s aaE

(a) * S775 (b) * 6000

(c) © 6150 (d) * 6250
33. What is the income range of the persons ?

=rfaeti 1 a9 feat 1

(a) 4.25 - 8.75 (b) 5.5-8.75

(c) 4.25-7.25 (d) 5-8.75
Directions(34-35): Study the following graph and an-

swer the given questions.

[ Amount®in lakhs| invested in raw materials

M ValueTin lakhs) of sales of imshed goods
=

500
4004

300

Tin lakhs)

200

1003

1995 1996 1997 1998 1993 2000
Year ——3
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34. In which year, there has been a maximum percent- Directions(39): The table given below shows
age increase in the amount invested in raw materi- production of five types of cars by a company from the

als as compared to the previous year ? year 1998 to 2003. Study the table and answer the question.
fra A 9 fom =i o fose od =1 o F =9 W W f
o1 o Years| 1998 1999( 2000|2001| 2002| 2003 |Total

e F sfywam 3fs & Ttype

(@ 1996  (b) 1997  (c) 1998  (d) 1999 s T S BT 5 S A BT
35. What was the difference between the average [6) 14 |12 13 12 11 14 =6

amount invested in raw materials during the given R 16 120 |14 13 [15 [12 90

period and the average value of sales of finished S S <] 12 (14 [20 |31 90

goods during this period ? 2§ 26 (18 24 120 23 121 132

fd T TR §, e W W e T sed few g LLotal 71 |76 179 |74 180 196 1476

fiRffei Teq & owa fawt Fime § A San|

39. In which year the production of cars of all types

(a) 62.5 lakhs (b) 68.5 lakhs taken together was approximately equal to the
(c) * 71.5 lakhs (d) * 77.5 lakhs average of the total productidn during the
Directions(36-38): Following histogram depicts the period; 2 ;}
range of heights of students in a class ‘of 60 students. form ad § vl FE B ':\'r'flTE?. Wﬁ 3 g s &
Study the same and answer the questions.
Z6F SUCURCHELS ] ) wt
go (a) 1999 (b) 2000 [9 2002 (d) 1998
244 Directions(40-41): Sﬁadg fthe following table and an-
227 swer the questnons M f
, 20+ fe N
E 1:_ Years Percgnwf&‘gf Candidates Qualified E;Ifbtd Mumber
= = w+Under discipline :
% 144 Aita.%eu%;agﬁnmlerce Ag;'ictﬂtureEnghleeriﬂglqua]JﬁEd
o 124 2006[24-(40 ) 19 09 08 780
5 10+ 2007|15 |42 |18 13 12 650
28 %s 0 145 0 08 07 500
e ool15945 |16 14 10 620
Zy 12010419 |35 15 19 12 900
9 | ;ffrs»‘ so11f18 |42 14 12 14 850
100 110 120130140 150 160 170 180 190 4}“\ ‘gft?f The decrease in the number of candidates quali-
Height in centimeter b fied under Arts discipline from 2010 to 2011 was
36. The number of students having height mof‘g: tha,n ad 2010 @ 2011 7% el T § T & T oE 7 gen
150 cms is \Q; . N
4 siflir St I ™ \J H foraHt st 21t
150 om A SR A BE HH Sen ol ) (a) 11 (b) 18 () 42 (d) 69
(a) 25 (b) 46 (c) 38 - &QQ 41. The difference in the average number of
Two-wheelers [(IIIILIE | | | | candidates qualified in Science discipline per year
Cars _,” from 2006 to 2008 and the average
Buses ===_l=%/ number of candidats qualified in the same
Tanker IOI'I'y ‘m discipline from 2009 to 2011 was
Pedestrians ) I 2006 ® 2008 % fauF g ¥ uiE 94 9" gH art St
Bicycles 1|||||||| | #1 #irga weA, 35 wgg # 9§ 2009-11 9% 99 g arel 3
Stationary, 1 #iea gen & " o g
Vehicles .~/ EI Represents 20 (@) 47 (b) 57 (c) 74 (d) 141
37. The numbé’ﬁ df students with their heights be- Direc‘.tions (42-43):- Study the table and answer the
tween 130 to 150 cms is JuesLions:
130 cm & 150 & & &9 S9E 9 SHE F GEa g Height (in cm) | Number of Girls
Less than 140 4
() 8 (b) & (c) 14 (d) 22 Less than 145 11
38. Group which contains maximum number of stu- Less than 150 29
. Less than 155 40
dents is Less than 160 46
# @ wl § o # Hen s 8 e s .
g 42. The number of girls whose height 1s above 150 cm is
) 180:130 i), Lsu-160 150 9. % sifers T aelt et = He wan
(c) 140-150 (d) 160-170 (a) 22 (b) 29 (c) 86 (d) 97

1200 |
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43.

Average height(in cm) of the girls whose heights
are 155 cm and above is about

155 &ft. =1 atfrss oram el wrefwdl #1 sligd S 9qrd
(@) 158.7 (b) 159.8 () 1604 (d) 162.6

Directions(44-45): The table shows the percentage of

toal population of a city in different age groups .

Study

the table and answer the questions.

44.

45.

Age group Percent
Upto 15 20.00
16-25 18.25
26-35 16.75
36-45 16.25
46-55 15.00
56-65 12.50
66 and above 1.825

If there are 22 million people below 36 years, then
the number of people (in millions) in the age group
(56-65) is

7fs 36 99 #1 21g | F1 @i F1 gem 22 fafaw= @, @ (56-
65) og-F1, § @ =t Hea Fad|

(a) 5 (b) 5.5 (c) 3 (d) 3.5

If the difference between the number of people in
the age groups(46-55) and (16-25) 1s 0.975 million,
then the total population(in millions) of the city is
afe a1 = (46-55) du1 g = (16-25) & @nil #t Hea ¥
3 0975 @ @, @ WeT Ft FG SHEE 6|

(a) 27 (b) 30 (c) 22 (d) 25

Directions(46-49): Study the pie-chart and table given
below and answer the questions.

Details of percentage of employees working in va
ous departments in an organization and numbe;, qf : "
males among them. ?

Total number of employees =800, «f:’:}

P

£ S
o,

Depﬁrt.ln‘cnt
‘Prodtfchon

4 IR
‘Marketing
Accounts

46. The respective ratio between the number of fe-

47 .

info@spardha.guru

males working in HR department to the total num-
ber of employees working in the HR department 1s

HR fagm o #rfa o wfeensti qon HR fawm § #efa 5d
HHAITE & FE H A gar)

(@7:10 (b)8:17 (J8:19  (d)5:17
The percentage of the number of male employees
working in Marketing department to the total

48.

49.

Dn'ectmns(SO 53) :

number of employees in Marketing department 1is
R faam § wM wE A AR 1 He, Aebien faam
¥ Frfa we wHAE #ogen w fHE % 2

(a) 84%  (b) 86% () 88% (d) 91%

The percentage of females working in IT

department to the total number of employees
working in the orgainzation is

T fasm # Frdw Afeenedl F1 e, Ha wHateEl F " F5
e % 21

(a) 10.25% (b) 10.75% (c) 15.25% (d) 15.75%
The ratio of number of males in marketing de-
partment to the number of females working in that

department is

Tz faum & wede gEe aﬂmﬁf%naﬁmm|
(@ 52:7 (B)52:9 (q) y? *”‘%?‘““" (d) 55:9
The mark@ ﬁ.k@nned by 273 exam-

inees are shown by the 1r6f:1uam£:y polygon. Given that
mean marks is 59.5. S;u%y‘*'the frequencey polygon and
answer the given questions.

50.

53.

Fre%lcf”of Marks obtained

4

80 73 ElF Pt
= A |72
- M
£y . 69:‘“ // \\
/oyt Y78
g il \
£30 > \
o % 24
12/ \
10 // .
0 B—T14
e | (=] [=] [=] o [=] o o [=] [=]
TR e v v v 5 0o g 9
© O 8 ®» ¥ B 8 KR SI

Marks range

The number of examinees getting more than av-

erage marks is

o afenfeial A sivga sl § e % wra R

(a) 72 (b) 105 (©) 152 (d) 164
Percentage of the students who get above 80% marks is
80% ¥ A% 1% W H Tl Bl w1 wfave fawa g
(@) 9.81  (b)10.53 (¢) 11.28  (d) 11.72
Percentage of the students who got marks above
60% and below 80% is

60% 9 AT, < 80% | FH 3F W FH 9 BE &
& H % a2

(a) 43.95 (b)48.39 (¢ 51.06  (d) 56.84

If 40 1s the pass marks, percentage of students failed is
g 3l % 40 &1, 9 793 fEa % 26 B gl

(@) 1456 (b) 15.84 () 16.11  (d) 17.25

Directions(54-57): The subdivided bar diagram given
below depicts the result of B.com students of a college for 3
years. Study the graph and answer the given questions.
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Higst Iawicon Second Division

- Third Division |:| failed

Marks

2006 2007 200

Years
54. How many percent of students passed in first

division in 2007?
o6 2007 ¥ woM AVt § 9 B S B w1 Y% =9

(W3]

o\

15 13 2 1
@ 1575% (b) 11-% () 165% (&) 125%

55. What wae the paee percentage in 2008 ?
a4 2008 ¥ Tl BE w1 % Fad|

1
(a) 3335 3% (D) 822% (c) 75%
o 2006 ¥ g aﬁﬂaﬁﬁmmﬁaﬂﬁmqﬂmﬂ
(a) 60 (b) 140 (c) 59 [d)l_ 15@  ud
57. In which year, did the college have ‘r;lve be jt result

for B. com?

fobm = o afoea faw 1 wddw R En‘
(a) 2007 and 2008 (b) 2008'&;’6) 2007 (d) 2006
Directions(58-63): Study the grap]:;,hand ﬁlsuﬂer the questions.

. Cool-up - ng-«gp g Dew-drop

40/

w
gl

&
2
XX

b
wu
WENE

b2

<
7
A

X0

Sales in_lakh_bottles

H
(_.l'l
2

N

O

10H

(X

X2
T

X

%V

o
v
K

1992

1991
YEARS

,_.
O
o}
o
—
e}
WO
o
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58. In which vear the sale of cool-up is minimum ?
forg od F Fo-om =t ot =gEam o
(a) 1990 (b) 1992
(c) 1993 (d) None of the above
59. In case of which soft drink was the average an-
nual sale maximum during the period 1988-1993?
gugrEfy 1988-1993 % <F o ‘g fgF’ #it siraa aiffs
fat waifu=s @
(a) pep-up only
(c) cool-up only
60. what was the approximate percent drop in the sale
of pep-up in 1990 over its sale in 1989 ?
34 1989 =i qe ® 99, 1990 # 99-279 =1 faskl d fapad
gfaerd & FH 22
(@) 5 (b) 14 © 12 A (d)20
61. What was the approximate percént increase in
sales of Cool-up in 1990 ov’eﬁéaltswgales in 1989 ?
ad 1989 zmga-—nﬁaﬁ 1990ﬁ@maﬁﬁaﬁﬁw
F TR T

(b) pep-up and Dew-drop
(d) cool-up and Pep-up

(a) 100 (b) 50 @«516 [d] 150

62. In which year ea&? f:ﬁ drop is maximum ?
frg =i o feg-g ﬂfr 5 i 21
(a) 1988 } 19 (c) 1989 (d) 1993

63. In case of 1ch soft drink was the average an-
nual sd] um during the period 1988-1993°?
74 19 @strmaﬁxﬁmwa‘mﬁaﬁmﬁn

{a] Peplkfp only (b) Cool-up only
‘] Mdrop only (d) Dew-drop and Cool -u
Dn‘eﬁ‘tjﬁinﬁ[ﬂ 67): Study the bar diagram and answer

4 ffﬂ}q following questions.
@ 78% 2L

56. What was the number of third divisions in 2066'-’ o’

) Demand and production of colour

TV of five companies A, B, C, D and E.

(Number on the top of a bar 1s the number of colour TVs)
B Demand 0 Production

§

3300
| 2700

12000
500
] 1800

T e

AATELAALELANARERRRERRRARANRANY

Nunber of colour TVs

MM1200
a0

h

——>
E

>

B C _D
companies
64. The ratio of the number of companies having more
demand than production to the companies having
more production than demand is
IAEA H gerl U st w1 qen | w g | sifusw S
arelt FEfEl 5 e W oSaE add

(@) 2:3 (b)4:1 € 1:1 (d3:2

www.spardha.guru



info@spardha.guru

65. The difference between average demand and
average production of the five compaines taken
together is
Ui HUFET F TG W e SiEd AR & 4 Sl Far:
(a) 1400 (b) 400 (c) 280 (d) 138

66. The percentage of the demand of company D as
compared to the demand of company E is

Furt ‘D' # A, FEECE # A0 @ A % 2

(a) 12 (b) 24 (c) 20 (d) 30
67. The ratio of average demand to average produc-

tion of companies B and D 1s

FuAl B @l D &1 Siigd | q91 Hgd Seded & ai™

AU AT |

(@) 1:5 (b)2:5 (c)3:5 (d)4:5
Directions (68-71):- Study the graph carefully and an-
swer the following questions.

Cotton production [ 1994-95
21 B 109394
1818 [] 1992-93
1
A
State

68. The production of State D in 1993-94 is how many
times its production in 1994-95?
T D F1 = 1993-94 F1 374, =9 1994 -95 % 3emEA
oA T B f
(a) 1.33 (b) 0.75 (c) 0.56 (d) 1.77 % }
69. Which of the following statement is falsef’,ﬂ “‘?}
1 & | =9 @ woF T B 7\
(a)State A and E showed the same production in
1993-94. con
(b) There was no improvement methe prodution of
cotton in state B during 5
(c) State A has pr‘oduct:? xithum cotton during
the given period ~
(d) Production of state C and D together is equal to

that of state uring 1993-94,
70. How many swg’%ﬁr}wing above average produc-
tion 1 1992 gﬁ_ﬁmwed below average production
in 1993,942
ﬁﬁiﬁmﬂ{l‘96293ﬁ§'ﬂ3‘ﬁﬂﬁmﬂﬂfﬁqﬁ G
1993-94 ¥ g3 ied ST ¥ F9 Ioaed <9 @ 2
(a) 4 (b) 2 () 3 (d) 1
71. What 1s the average production of the five states
in the year 1994-95 taken together ?
o 1994-95 § Wi T b Siwa goared fa
(a) 12.3 (b) 14.6 (c) 15.6 (d) 16.3
Directions (72-76): The subject wise number of
applicants for the year 2008 and 2009 in a college is
given in the following chart. Study the graph and
answer the questions.

340
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Subjectwise applicants
3000
2580
v
‘E 2300 S5 . 2008
;-g‘ 2000+ 570 D 2009
&
2 1500
o 1
1000+
=]
=
500+
ol Yn«;?“ o0 S “q"\ﬁ“ ?\,_«.“" 0\99' %"‘&& \0\063 50
? Cc_év #@@ Y- 1w ‘;@6“ .@‘e“ v
Subjects 3
72. The subject for which demand 1 aximum
e fawa =1 w sifumaw 81 . .\';)
(a) Chemistry (b)t é’ﬁlematlcs
(c) Computer (). ] technology
73. The subject for whicl’ dﬁnﬁnd 18 minimum:
g o =i =i 3Oy
(a) Statistics [b] zoology

e)
(c) Botany | (d) Microbiology
74. The numbé’(jf Chemistry seeking applicants

1ncrea

T A A ardEl # gen fae % 96 gl

(a) 17.26% (b) 18.89%
6~1925% (d) 21.08%

5. ’F ZJnumber of Physics seeking applicants

increase by

difeer v A Al a5 ge el % 99 2

(a) 17.26% (b) 18.89%

(c) 19.25% (d) 21.08%

76. The number of Mathematics seeking applicants
increased by

o g A St Hen e % w9d 8

(a) 17.26% (b) 18.89%

(c) 19.25% (d) 21.08%
Directions(77-81): The diagram shows the age-distribu-
tion of the patients admitted to a hospital on a particular
day. Study the diagram and answer the questions.

A

J

—

s e ol Ll el il
|

L%
>

No. of Patients

a5
e

30 35 4045505560 657075 80
—_—D
Age(in years)

M

<O

|"1203
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77. Number of patients of age between 55 years and 60

years, who got admitted to the hospital on that day is.
30 f&q sromre W wdl BF 9t 5539 ¥ 60 34 F @ w3y
% WSl HWem faar ot

(a)6 (b) 4 (c) 24 (d) 8

Total number of patients of age more than 55
years, who got admitted to the hospital is

39 f7 55 9 @ sfus 39 & forad ol ergae 9wt g
(a)4 (b) 7 (c) 9 (d) 10
Number of patients of age more than 40 years and
less than 55 years, who got admitted to the hospi-
tal on that day is

39 T8 40 =6 € HAfus fh=g 55 98 ¥ &1 o1 % wdl 81 aw
Tiel F we R et

(a) 20 (b) 30 (c) 15 (d) 12
Percentage of patients of age less than 45 years,

who got admitted to the hospital on that day is ap-

proximately equal to

4534 | W 39 F Wil H ge, 39 7 9d e a9 w5

Tisl # Hem w1 fEa % 7

(a) 14% (b)) 20%  (c) 37% (d) 62%

About 11% of the patients who got addmitted to

the hospital on that particular day were of age

T 11% Wi foee =a favm fam wifeen faon, ==t 3w

[EREACIC R

(a) either between 35 years and 40 years or
between 55 years and 60 years

78.

79.

80.

81.

(b) between 60 years and 65 years
(c) between 35 years and 40 years

(d) between 35 years and 40 years and betwee‘f_‘r\\:;};

e

55 years and 60 years.
< =) L
Directions(82-84): The following table gives zgngahs%
survey report of the people of a country who "t’akpf‘%:of—
fee. Study the table and answer the questiéns. ™

Nl
Take coffee Zone [ 7%
North | East West South

More than 3 times a day [410 | 810 | 700 1450
1 to 3 times aday 1220 | 830 | 1250 | 1120
Twice a week 1640 | 710 950 420
Only once a week ¥ 540 530 350

Never (7“-950' 430 620 50

—

N

82. The percenta%%f_f‘péople of south zone who take
coffee at I_gas %‘Qge% a day is close to

<fET S ek 3T i w ge sa S § w6 4 w6 0w

an FE e U )

() 33.51 (b)42.72 (c) 75.81 (d) 80.82

The percentage of people from non-west zone who

take coffee’only once a week’ is approximately

AF-afyaet §F % 39 @ S gEE &1 gfawd S o gwe 0

Head TH 9- HIF 9 &)

(@) 11 (b) 12 () 13 (d) 14

The ratio of the total number of people surveyed who

take coffee more than 3 times a day to the total

number of people who do not take coffee at all is.

83.

84.

1204 |
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uF feq § 3 ar 9 sAfus = 9 arel F WA w1 ST S hl

e ¥ 9| 9ad W U d a) = A2 9| €

@l:14 (b14:1 (15:1 (d1:1.1
Directions: In questions nos. 85 to 88 study the follow-
ing bar-diagram and answer the questions. Electricity
units consumed by a family in two consecutive years
during July to November;
Td91 (260 ¥ 263):- <2 eE F AH W UgHL Y & I 2
TR 2 F61 § S[eid 9§ A6 % SNF U 9Rar gl fasted #1 el

700—

[] Months of 2012
B Months of 2013

o]

600

500

!

X

X

\/
A

400

)

X

300

UNITS CONSUMED
Y
1’;&’1’{

200
100

X

U

NV
X

-

JULY YAUG SEPT.

4 MONTHS —>

In how many tonths in 2012, the consumption of

electric&.}.fi‘fgg' was more than the average units
COHS&&@H in that years:

mi;zom[ﬁmﬁﬂ%ﬁﬁfﬁ?ﬁﬁwwaﬁﬁafmw
wWs  me2 (©) 1 (@3

; The total units consumption in the years 2013
during these 5 months, in respect of the same in
the previous year has been:

OCT NOV.

=9 2013 ® | = free we =t g § T @
(a) increased by 2.27% ! @amar

(b) found unaltered #¥ uftads &

(c) decreased by 2.27% =t =t

(d) increased by 2.22% @t @

The maximum difference in the units consump-
tion between these two years has been found in
the month of :-

7 T & o fEg mER o gfae wam F sia gaifis we
(a) October (b) August
(c) November (d) July

The average electric consumption by the family
during these 5 months in 2013 is

a4 2013 T 5 T F 2R 1fER 1 siwa fasiell @ [ F1
(a) 450 units (b) 470 units
(c) 440 wunits (d) 400 units

Directions: Questions no. 89 to 90 the income of a
state under different heads is given in the following
pie-chart and answer the questions.

ot - 264 265 : fafq= Sidl 9 TS F BH TR0 AT H W qE
= W I T 2 UE AR F S § UgE Y # S S

87.

88.
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Income tax

35%

89.

If the income from the market tax in a year be *
165 crores then the total income from other
sources 1s (in ~ cores):-

4f W o § e F 4 165 FUS HI A4 el §, d d4
il 9 U e A A6 FI (FE H)

(@) * 335 (b) * 325 (c) * 345 (d) * 365

If the total income in a year be ' 733 crores then

the income (in ° crores) from Income tax and ‘ex-
cise duty’ is:

Ife wF o F Fo A 733 TS B, @ AR T IR Yo F

90.

9 foradt s gg?
(a) * 329.80 (b) * 331.45
(c) * 329.85 (d) * 331.50

Directions (91-93):- The following pie-chart shows the
sources of funds to be collected by the National Highways
Authority of India (NHAI) for its Phase II projects. Study

the pie-chart and answer the following three questions:

(Frdor) o mu - F Ui qemn Wb (NHAL & g/

<t L S % fo o S A % e e i s
L2

2 - F AW G wgE W # Sw 3

91. If the toll is to be collécted through and outsourced
agency by allowin,g_\‘af’maximum 10% commission
how much amountsshould be permitted to be col-

lected by the g tsoitced agency, so that the project
is supported with,' 4,910 crores?

% w Wede FE,10% FH9H W et S g €, A4910 g
FYU F1 GEHAl €4 & ferq WEAe F F fra et ager g
(&) * 6,213 crores (b) * 5,827 crores

(c) * 5,401 crores (d) * 5,316 crores

If NHAI could receive a total of * 9,695 crores as
External Assistance, by what percent (approxi-

92.

mately) should it increase the Market Borrowing
to arrange for the shortage of funds?

afg (NHAI) %1 aredt geral § 9695 #ig ®9u wra g €,
AR %Y1 1 fae gfae aer € il 99w s @ o
= =37
(a)4.5% (b) 7.5%

(c) 6% d) 8%

info@spardha.guru
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93.

The central angle corresponding to Market
Borrowing is

N 1 WA AT W H S H0T FA B2

(a) 52° (b) 137.8  (c) 187.2° (d) 192.4°
Directions (94-96):- The graph shows the demand and
production of different companies. Study the graph and
answer the question nos.

g~ fow o e F fafe=r wofrail & =i qen seeA # aeiEn T
T UE F AE d R Wl § SW

70007 o _
Units(in lakh metric tonnes)

6000+

5000

4000

@ Production
® Demand

3000

2000

1000+
0

I ®

2]
Aﬂ;‘é}sluw‘tl DI ] El

Companies

94. What is, the satio of the companies having more
dem efi production to those having more pro-
ductiog';&'ﬁ an demand? _
SRR &, Sfd 6 Aelt FufEl aen Iened | &W A A
N 1 s w87
)2:3 (2:1 (d)3:2

The demand of company B is what percentage of
}~ the production of company A?

Foit B 1 ", wf P Soqed 1 oo e @2

(a) 50% (b) 70% (c) 80% (d) 60%
96. The production of company A 1s approximately what

percent of the demand of company C?

FOH A F IARA, FF C B T 1 RN wiavE 27

(a) 50% (b) 60% (c) 55%(d) 65%
Direction (97-101) :- Percentage of different types of
employees in a company in two consecutive years.

Study the graph carefully and answer
the following five questions:
frdon- wF F9 oA & "ol | fafes ywr & wHefE @
wfavm uiE T R (WF F AR § UEE A B I 9)?
Percentage of Employees

Total NO. of employees Total NO. of employees
42980 48640

1997 1998
97. In 1997 the total number of which of the following
types of pairs of employees was approximately
equal to the employees in 1998 ?

| 1205
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a9 1997 % f4= # ¥ foa 1 wan & FH=fE #t H57 dem,
1998 = FHEIET F1 F&A & a7
(a) Dand E (b)Cand D (c) Aand C (d) Band C
98. From 1997 to 1998 in the case of which of the follow-
g types of employees the change was maximum?
1997 9 1998 ® foaq YFR & FHAANET F1 AT AAfgF: o
(@) C () D () B d A
99. What was the approximate difference in the
number of B type of employees during 1997 and 1998?
% 1997 741 1998 W B YR & FH@IE F1 Haw fwam &7
(a) 2620  (b) 2085  (c) 2285  (d) 2325
100.If the number of D type employees in 1998 was

5000. What would have been its approximate
percentage in the company ?

afs 1998 # D UK & wH=nal & HeA 5000 off, af 98 HoAr
% FHHAIEl 1 faa wfaerd ol
(a) 14 (b) 10 (c) 12 d) 16

101. The number of A type employees in 1998 was

approximately what percent of the number of A type

employees in 1997 ?

1998 4 A =R & =@l & ¥@d, 1997 § A IR &

FeaifEl w1 Hemn w1 e afwm o

(a) 125 (b) 95 (c) 115 (d) 140
Direction (102-106):- The following graph shows
production (in thousands) of two types (P and Q) of
vehicles by a factory over the years 2009 to 2014. Study
the graph and answer five question

iy : frefafea o & ©F d9ed @R ad 2009 F 2014 9% 9T
a?ﬁ\w[?an]a?aﬂmﬁ(mﬂ)mwglmgl
a7eEE Fife o iR fiu o ute wv SR S sl

—x—Type P/ =z P {y’-‘:e;\
1 —**Typle?r’qQ”‘ ol

(ot ®) —>
&
(=]

@ WS
—
o o~]
oo
T L

-

o~
oW
1

Number of vehicles (in thousands)

‘ 20&9}‘&010 2011 2012 2013 2014
,/) & Yearlaﬁ  —
102. Approxn’n{ te percentage decrease in productlon of
Types Q vehicles from 2010 to 2011 1s
g 2010 9 2011 @& =159 Q =me+l & Scured | wmn fahad
wfer wH 2E?
(@ 143 (b 10.1  (c) 16.3 d) 12.5
103. The ratio of total production of Type P vehicles to
total production of Type Q vehicles over the years is
fau o =6 § 2Eq Pardl % %o A o 2EY Q Al
el SeAEA F1 IR 87
(@)41:48 (b)5:8 (c)8:5 d) 48:41

1206 |
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104.

105.

106.

The production of Type Q vehicles in 2010 was
approximately what percent of Type P vehicles in 2014?

2010 ¥ 2’ Q arEd *1 Icared 2014 # 2q P & IcuEd
oo ferd en?

(a) 60 (b) 45.5 (c) 54.5 (d) 75

In how many of the given years, was the produc-
tion of Type P vehicles of the company more than
the average production of this type vehicles in the
given years?

e o forad adl § el w1 ey P oawdl @ sard e g gl
¥ T 29 F A F o 3RS o feaw afes an

(a) 3 (b) 5 (c) 2 (d) 4

The total production of Type P vehicles in the year
2009 and 2011 is what percent %Eﬂ production
of Type Q vehicles in 2010 and.20 L 2

a 2009 2k 2011 § 29 Paﬁm‘a&%{m 2010 @i
2014 4 72y Q & mmaqfam v e

(a) 81.25  (b) 75 ¢ [Sj«‘SO (d} 69.25

Directions(107-110) Stuidy the following histogram

and

fader:

5%@ —

/’l&

0

107.

108.

109.

110.

answer the four &e’tions

ﬁnﬁﬁa@%@maﬂwmﬁmﬁ’qnq4uﬁam%
y o
;:z“"’«f

¥ S

T 601 ,QM

504/

-ESO-
s Fo

104

T

0 10 203040 5060708090 100

Marks Obtained

= 3k

The no. of students securing marks in the range
90 - 100 1s
90 - 100 ¥ & i Wra FH = faenfei #1 wemn &7
(a)10 (b) 20 (c) 30 (d) 40
The range of marks obtained by maximum no. of
students is
Afyspan fazifelal g o &F fAfafea 9 8 faas
= 27
(@) 30 -40 (b)60—-70 (c) SO0 -60 (d) 80-90
The percentage of students securing marks less
than 50 1s
50 § FA 3F UG F arel frnfE w1 wiae €

28i‘3/ 27E‘3ﬂ" 23'1—3‘3/ d 472‘}’
(@28-% () 27-% () 2357 % (d) 4757 %

The total no. of students on whom this survey was
made is

= faenfial =1 #= den fead € i W g8 gdem o mn 82
(a) 190 (b) 200 (c) 220 (d) 210
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Directions(111-114)/ f@: The following table shows
the world production of steel in 1920-1927. Study the
table and aswer the question.

frefafen aifae 4 1920-1927 9 fava o zoq@ =1 Scred S9iian
T F e # ST wE AR Y H S 3

Direction(115-119):-

Questions.
Frdon- 9R =2 W AHEA AU AR U B S Alfe

Income and Expenditure (in crore Rs.)

Study the bar chart & answer the

in 2001 of five companies

T FafEi #12001 ¥ @@ @R = (FE B) A

Year Production
(in millinn
Tons)
1920 71.30
1921 43.51 60
1922 67.66
1923 76.23 =
1924 77.23 50 S0
1925 88.93 A= = a5 4501
1926 91.75 45+ A9 b = —,a
1927 100.17 40 40 -
40 — 30 ol ,1"4 o)
Production (in million tons) 35 " o g W \“3"
A Seae (fufer =i #) s : == 2=
il i v, 3] w
100 w0017 O | B 2} =
— =4 | H B ITHY(E
90+ 91.75 b B (Y
88.93 < o
i S 20 = - i ““‘“‘%T ;
804 _ 76.23 Ak .
71.30 = 15 5 B :
7040 M 67.66 08 P
] 10=] ﬁ; e
60+ 2
5
50 S A
40 43.51 5 kTR g £ 5
O Qr 3 N P 0 R
05 [ ©)  EXPENDITURE  INCOME
20+ _) ) =0 el il
10 O
&5

1020,02%, 022, 07% ,92* 920 (20 \;@Q‘k T
The difference of the production of stE'el\m*’the year
1923 and 1924 is x% of year 1927\1‘{;}1‘1 the value

of x approximately.

ad 1923 #in 19241&%%%%%3& 1927 #
X% B X HA @I ﬁr@}% . S

(a) .1 {f \{c] 001 (d) 1

The nurnber of years” durmg which the company

has its producti ylésg than the average prodction
during 1920 27 “4s approximately.:

wwwmw%mwwﬁmaﬁ
1920-1 e e | w2

(a) 3 (bl 4 (c) 6 (d 2
The ratio of production of steel in the year 1924
and 1925 to that of 1923 and 1927 is:

a1 1924 3t 1925 ¥ z0aid & seared w1 o 1923 3K 1927
% I W I fHa €2

(a) 2005 : 2077 (b) 2077 : 2205

(c) 2205 : 2007 (d) 2205 : 2077

The average production of steel is:

T W 2T SR B
(a) 74.07  (b) 75.13

111.

112

113.

114.

() 77.10  (d) 76.09

info@spardha.guru
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115.For company R, if the expenditure had increased
by 20% in the year 2001 from the year 2000 and
the company had earned profit of 10% in 2000, the
company's income in year 2000 (in crore)
it R % =1 1§ 74 2001 & =1 2000 =1 g1 §20% =1 3fg
g2 3T 9 F 79 2000 H 10% F1 14 €N o, 9 FT Fi
1 2000 ot s @ o2
(a) 35.75 (b) 37.25 (c) 41.67 (dj 38.5

116.In 2001, the approximate percentage of profit/loss
of all the five companies taken together is equal to:
2001 ¥ ui=i wafai =t faen %1 o feaa wfaem enwrerf g2
(a) 4% loss/=fT (b) 6.48% profit/<mq
(c) 6.88% loss/?H (d) 4.64% profit/eng

117.In the income of company Q in 2001 was 10% more
than 2000 and the company had earned a profit of
20% in 2000,
(in crores) was:
afE F Q #1 &1 2001 # 2000 F1 qe # 10% a1fd# g2
3t FT 1 2000 F 20% F1 @9 gA e 7 2000 F =
o (Fdg ) g3 ar?
(a) 32.32 (b) 28.28

then its expenditure in 2000

(c) 3434  (d) 29.09

|"1207
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118.The companies M and N together had a
percentage of profit/loss of:
M 3R N =afai =i firers fea sfwm araet g2
(a) 12% loss/z1f7 (b) 10% loss /=14
() No loss and No profit/#% eif1 3t 7 %1 =14
(d) 10% profit/=n4

119. The company earning the percentage of profit in
the year 2001 1is:

3§ 2001 ¥ siferman ufavd o FAM St B BE-GF 87

(a) N (b) Q (c) P d M
Directions(120-124):- The bar graph provided below
gives the data of the production of paper (in lakh tonnes|
by three different companies X, Y, Z over the years.
Study the bar chart and answer the following questions.

- 9 fru T 3ve ererm o faw o el fen wre # SeEA
(ara =7 H) siFel 1 YR T E AR W% & eerdd Fife e
Uyl & I Sife)

55
50
4 45
40

Quantity in Lakh tonnes
= @ o o

2000

120. The ratio of the average production of compa
in the period 1998-2000 to the f’ﬁéﬁ:?"gc
production of company Y in the same par{hggm
19982000 1 sraifis & X Foft & i Se S/ ety
¥ Y FTR & o ST H SR R
() 2427  (b)23:25  (c) 25:26, () 27:29
The percentage increase in tie preduction of Com-
pany Y from 1996 to 199 ~is.;:“w«"
1996 § 1999 d% Y ®91 7Gcne § fepadt wfewrd dfig gd?
(a) 55%  (b) 50%(, (c) 60% (d) 40%
122. The differnce be :é'e:ﬁv—the production of company
Z in 1998 and cgré‘p’ény Y in 1996 is:
1998 § Z FFH dNID96 ¥ Y Flt & s & i 0 s 87
(a) 20,0 ,gﬁg <$;énnesf?ﬁ (b) 10,00,000 tonnes /29
(c) 15,00,000 tonnes/= (d) 25,00,000 tonnes/<d
123. The average production for five years in maximum
for company?
s A w1 A serEd R w Ol w et €2
(@) Y (b) Z
(c) X and Z/X X Z (d) X
124. The percentage of production of company Z to the
production of company Y 1s maximum in:
Z FT % I SR Y wOR % Scqed &1 wfavd fEw o
Ay @12

121.

1208 |
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(a) 1996 (b) 1999

(c) 2000 d) 1998
Directions(125-128) : Revenue earned by the Central
Government is given in Pie-chart. Study the pie-chart
and answer 4 questions.

firder : F2 TR g afse wa g9 A (wE =E) F et mn
21 =9 R F1 e # o Frafefee 4 vl 3 3w 2

A= Custom duty /HHl 9wk

B= Other/ 59

C= Income Tax/=mmet

D= Corporation Tax /& =¥

E= Excise duty, swms s
125.The ratio of revenue earned from
custom duty to that of other is

™S
()11:3  (b) 11:2,. (@IF:4 () 11:5
126.If the income of Central Gévernment from Excise
Duty is 28,618 {(ctores, then the total revenue
earned by the gdvernment is
7% 3R Wﬂﬁ;ﬁm 1 ER At A 28,618 Fg
(a) 58,900 efores/®Ug (b) 47,200 crores/#Ug
(c) 69, 00 crores/®iz  (d) 45,600 crores/F:US
127.1 n{hg;gercentage of revenue earned by the Cen-
‘ﬁ{"@.ﬁgovernment from Corporation Tax is x times
to that of the percentage of money earned from
percentage of money earned from Excise Duty, then
the value of x1is
afg F= TR 1 fe = W Ak B9 9w Tewe =1 widvE,
SR Yok § sfsta e ot wfkn # wfrea @ ooTen §, b x
W WA Fd)

41
(d) 14
128.The ratio of revenue of the Central Government
earned from the Custom Duty and Income Tax is
T TR G e SR s ¥ i R Al ae @6
ST )|
(@) 14:41 () 9:26 (¢ 10:9 dj 7:13
Directions(129-133): Study the following table which
shows the amount of money invested (Rupees in crore)
in the core infrastructure areas of two districts. A and
B of a State, and answer the below five question.
fader : frfafaa @fas %1 seaa Fifve oo & 9 & 21 fSa
A it B# F1 sEdeEaens &4 4 fEw 9t &1 ofn (vog w0
%) wufE ™ ¢ v Frefafen oW v ® sW G

41 9 14
() 5 (b) a1 © 237

DistrictfaenA |District fen B
Lore Areaqr sy 1990 | 1996 | I9YS 1990
Elactricityff‘a@a 815.2 | 1054.2) 2065.8]2365.1
ChemicalTam™a | 389.5 | 476.7 | 745.3 |986.4
Thermal /AT 632.4 | 565.9| 1232.7]|1026.3
Solar/HR 468.1 | 589.6| 1363.5]1792.1
Nuclear/=1f/err | 617.9 | 803.1] 1674.3]2182.1
Total /AT 2923.1 3489.5| 7081.6]8352.0
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129. By approximately what percent was the total
investment in the two districts A and B more in
1996 as compared to 1995 ?

1995 %1 ger § 1996 ¥ =t el A i BH =et faer wmem

e wfera atfr gam?

(@)18%  (b) 24%  (c) 21% d) 14%
130. The total investment in electricity and thermal
energy in 1995, in these two districts A and B
formed approximately what percent of the total in-
vestment made in that year?

79 & faell A 3t B W 1995, ® fagm it a9 e ¥ &

frawr =t ad & wwy frawr &1 @nen fean wfaem gan?

(a)47% (b) 41% (c) 52% (d) 55%

In district B, the investment in which area in

1996 did show the highest percentage increase
over the investment in that area in 1995°?

faen BH 1996 # f&g & § fdwr 1995 # 34t &= # fdwm

w1 sifemew wfoer gfis ® el 87

(a) Chemical /@™ (b) Solarfﬂi‘l'{

(c) Electricity /faga (d) Nuclear/=gfFmT
132. Approximately how many times was the total
investment in 1995 and 1996 in district B was that
of total investinent of district A in the same years?
1995 it 1996 ¥ fen B # el fraw o= =ni o fen A A
o a9 ®=1 o e T ey
(a)2.8 (b) 2.4 (c) 1.7 d) 1.9
If the toal investment in district B shows the
same rate of incrase in 1997, as it had shown

131.

133.

from 1995 to 1996, What approximately would ]fé,‘

the toal investment in B in 1997 ? f/»é-

afe foen B o %#t fraw 1997 o ot € fis =0 A0 w9l
faft 1995 & 1996 7 =i o, i foren B % 19977 %
fraer e foran @1 gim? ol )
(a) Rs. 10020 crore (b) Rﬁg:—‘gﬁé}\ﬁf}crore
(c) Rs. 9850 crore (d) Rs: 9170 crore
Directions(134-137): The bar graph shows the results
of an annual examination in a gfi:dﬁﬂary school in a
certain year. Answer the folldy ngfti{.u questions based
on this chart. { Ny
ﬁiﬂ:ﬁmﬁmﬁ‘wﬁmaﬁmwmﬁ
i wfen & oot e e #) TEE aeR W AR fRy
5 2. %)
IR T H WE I, 2
A i
1008 o
90+ ¢
80
70t
60+
50
40
30
20
10

Boys
Girls

Number of students passed

VI VI VII X X
Class ——

-
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134.The class in which the number of boys passed is
nearest to the average number of girls passed per
class, is
AStEHal F1 yfa wen #1 2iEd qew # e 27
(@) VIIT (b) IX () X (d) VI
135.The average number of boys passed per class is
A EF At T 1 W Fe F SR W ied W R 82
(a) 78 (b) 72 () 75 (dj 70
136.The class having the highest number of passed
students, is
a5 Fel FE-4 3, 59 6l F gt famnedf waifow €2
(a) VII (b) IX (c) VIII (dj X
137.The ratio of the total number of b vs passed to
the total number of girls \aﬁﬁin the three
classes VII, VIII and IX is , f;ﬁ,\‘\w}
a1 VIL, VI @1 1X § 3eiol eioapel o o et #
F e w1 o R aE )
(a) 19: 25 G\ O [5] 21:26
(c) 20 : 23 A V7@ 18:21
Directions (138-142):-“The Pie-chart shows the re-
sult of a Suxvgyﬁéﬁong 119060 people concerning the
use of toba%_c__\c??ﬂ?{'{xdy the Pie-chart and answer the
question. N
fordon: - H a1 S § Hag 119060 wi % wea
3 S TR T T # T s #f oo 5
T &’

OTHER TOBACCO
HABITS

/

WITHOUT

SMOKING
HABIT

CIGARETTES

138 . Number of people smoking Cigarettes is:
(a)53905 (b) 59305 (c) 59530 (d) 11906

139. Percentage of People under survey, who do not
have any smoking habit is:

A0 % 2 uH A w5 wfoee =@ B e Tt off v &
YUY F SRd T 82

(@)7.5% (b 10% (o) 5% d 5.2%
140. Number of people preferring Bidi is:
(a)29790  (b) 35718 () 29765  (d) 37185

141. Number of Cigarette smoking people is greater

than the number of pipe smoking people by:
fame 99 o &Ml S S 9EY # el 9 9. Wt 9
forartt arfuren 22

(a) 59530 (b) 47624

(c) 11906 (dj 29765

| 1209
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142. Let P be the percentage of people using Cigarettes,
Pipe and Bidi as their smoking means and Q be the
percentage of people using other means as their

smoking habits. Then P is more than Q by:

A el P Ud @il = afaeE & S ymem & fau fame, aEn

R et 1 GO W@ ¢ AR Q UG @l 1 wiavd € S gHaH

% foau = frdl 39 1 99 F9@ 81 P,Q ¥ ffam a1fe 22

(a)85% (b) 75% (c) 10% (d) 25%
Directions (143 to 146):- The data given in Bar
diagram relate to the department wise admission of
320 students to BSc. (Honors) first year classes of a
certain college in the given five subjects. Study the
graph and answer the question.
ey« a1 Trmm o U T et R Fies F s ()
gom a4 &l Fanell o 320 o % A fawi § fadrer wew 9
wET §1 WE T A T SR W ® S S

801
704
60 DMale student
504 .Fe:male Student
401
304
20% | E&
104
]
)

143. The total number of male students who got adgalt— "y ‘5

ted in Mathematics and Economics as compare
to the total number of female studenté’{e{;‘@ng
admission in Mathematics and Ecoaéami‘«} 1s:

wforg ST sefemE | v o el (HfEe)
ﬁwﬁnﬁm&ﬁmﬁmqmﬁ#W)maﬁ
wa gen feaf €2

(a) more by 4.2%
(c) more by 14.8%
The subject which t
ng chfﬁcult as com

(® »g‘ﬁare%y 12.8%
“ess by 17%
eafefﬂale students are find-

ec[ to other Sub_]ECt 1s:

144.

(a) Statistics 3 (b) Economics /v
(c) Che try}’l%fa‘? (d) Mathematics/7forg
The diffe ®dthe choice of the subject between male
and female students is maximum for the subject.
(qe9) B 3R (afeen) omed & 6= fom % g ¥ e
fora foma & sifushan 27
(a) Chemistry /w@m™@d  (b) Economics /aefvmes
(c) Statistics /®ifeast (d) Physics/ wifast
146. The subject in which the difference in the num-
ber of male and female students is minimum in:
(F9) 6w (vfeen) BERT F wen 4§ s frg e § = 2
(a) Chemistry/T@@®  (b) Physics/ wifa=t
(c) Statistics/®fea®T (d) Economics/3¥me

1435.
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Directio (147 - 150): Study the following graph carefully
and answer the given questions

=9 fau " mE F1 owaE gde semad w1 R R g
(147-150) % 39

Producton of electrical components

A B c
) m2010 B2013 @2012
147. Which company has the highest average produc-

tion over the three years?

= 8 9 %F G S A 3 ol b ey &l EicClED Y
(a) Company A /Tt A (b) Gﬁv i agf C /=7t C
(c) Company D /&9 D (d)t éof@}“aily B /%7 B

148. The total production of C nies A and D in year
2010 is what percen‘fﬁaf total production of four
companies in thefyeat ;‘2’0129
aﬁ2010ﬂ$ﬁmﬂ§;D'ﬂﬁmaﬁ2012ﬁﬂTﬂ
FufE # w5 P o o wfoer 82
(@) 57% ¢, b‘)uSS% (c) 52% (d) 61%

149 . Which f@ dxﬁop in production of company D from
year ‘to 2012 in percentage?

201{1 2012 7 FF D F1 3o # frraare it e 22
% (b) 33.3% () 50% (d) 25%

150 3 is the ratio between average production by

_ "* company B in three years to the average produc-
tion by company C in three years?

1 ol = B ok w5 C % o SR & 9 s 82
(@) 1:2 (b)4:3 (c)3:2 (d)2:3

Direction (151-153):- The pie chart represent the dis-

wribution of cost of productionof a firm in different pur-

pose. Total cost of production of firm i1s Rs. 720 lakh.
TF ©F % SR [ 1 ot 91§ faaor a8 anw § gt
T ¥ FH & R Sc9ed @ Rs. 720 @@ g

A = Cost of raw materials (F=d H/el Fl @A)

B = Cost of packing materials (T w1 ermE)

C = Cost of labour (&M #! &)

D = Maintenance cost (T@EEM HT @A)

A
90°

e
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151.Find the difference between Maintenance cost
and raw materials.
TEREE O[89 Hed Ald H O F g Sa 9w
(a) Rs. 50 Lakh (b) Rs. 60 Lakh
(c) Rs. 70 Lakh (d) Rs. 45 Lakh
152. Cost of packing materials and labour together
amount to:
Yfern wmfiEl @i g+ |fafed erE a8
(a) 250 lakh (b) 430 lakh
(c) 300 lakh (d) 220 lakh
153.If cost of production is increased by 10%, then the
new packing cost will be
I G 10% 9% W W, T URET e feet aei?
(a) Rs. 200 lakh/@=ma  (b) Rs. 220 lakh /<rer

(c) Rs. 180 lakh/ema  (d) Rs. 150 lakh/@ra

Direction (154-156): The following pie chart shows
the export of automobiles of India to the 10 countries
given below in 2014. The 10 countries imported 47 8%
of the total export of India. Observe the chart given
below and answer the following question.

frder: A= fau o E = A e = gw 2014 § 10 29 F i
frd T siEEEEs Foswi T 81 10 3N ¥ R % = fEf
F1 47.8 wfeve smm fEAm e fiw e wE W faEm o e
Trfafen 991 &1 W 27

Bangladesh
$592. lmilion
4.10%

Unted states
1.2 million
5.40% Colemhbia
$428.9 million
3%

United
Kingdom
$637.4 million
4.40%

Mexico $31

million, 6.90% {’/ :
N\
UAE ﬁ" ¢ Nt
$433.6 hed ;
Milion 3% \‘
Nigeria $546487, }
Turkey $380.4 million, 3. BU! i
Million, 4% y, 4
° South Africa { \\ st
Snlanka $538 8million f“ {s’
$596 9milion  6.10%

4.10%

154. Which country i1s the fifth ]g#’e}‘st importer of Au-
tomohiles from IndLa'-"
HA H1 3 9K § \_\nﬁmw@a@jmwé?
(a) United Kindom {¢ (b) Bangladesh
(c) South Africa/ %™ (d) Sri Lanka
155. What 1is the ;f?fa\g’e of exports of the countries
UAE, Ba_nglad&‘g}'f, and Sri Lanka?
qu, Ema]a‘fl iy sfiert 1 sivea Frafa fea €2
(a) 580.5 fnillion/ fife@A(b) 618.6 million/fifem
(c) 473.7 million/fdfera (d) 540.8 million/ fHfer
156. The number of automaobiles exported to United
States is roughly equal to the combined export to
which two countries?
| 2 & wyEa frl @ e 7
(a) Sri lanka-Turkey/ ftas1-g®1
(b) Sri lanka-Bangladesh/ 4iei®-aemsa
(c) Mexico-UAE /Afsasi-qug
(d) United kingdom-Turkey/¥7zee f&mEn- gl

info@spardha.guru

. Direction (160-162):
"t export and LlT.lpOIt of a company over the years. Answer
the question given below.

frafafaa siwe fom ool § & w0 3 emaa SR frafa w5 <ot
% A fer Moy # 3w 2

Copyright © All Rights Reserved | https://spardha.guru/

Direction (157-159): Observe the graph below and an-

swer the following question

F= fru u fEfe W AR w i feafafed v w1 oI w E

( Avg.Price Petrol (Rs.) @ Ave Price Diesel(Rs.)

72.68 73.70
6897

50.98

48.65
40.84 46.76 464 43.37
36.49 66.79

33.65 44 g 3404
2077~ 32.85

24.35 2

| | |
2012 2013 2014

| | | | | | |
2004 2005 2006 2007 2008 2009 20104 l"
8 Jaﬁé’ Jan Jan Jan

Jan Jan Jan Jaan Jan Jan

157. What 1is the approxirnate ef centage difference in
average price of Petrol in 20{54 end 2014?

2004 3t 2014 ¥ Fra a?”sﬁ@jg—q # e fe sfww 6

e &7

(a)98% (b) 109> [c] 102% (d) 105%
158.In which igr thea‘*deference between average

prices of p 8]l and Diesel is minium?

maﬁjgﬁ*{%s‘fnmaaﬁmnﬁ#aﬁmm%?

(a) 2095 M; (b) 2009 (c) 2014 (dj 2004
159. What 1S~'fhe average of diesel prices over the years

006, 20127
BO06.2012 # Hr Frorm 1 s g e 37
fﬁ“’%‘j (a)36.47  (b) 37.34 (c) 35.67 (d 38.77

Statement is a data regarding

Value of exports (in = lakhs)
frafa =1 99 (C arEt )

350

300

250

200

150

100
50

2009 2010 2011 2012 2013 2014
Value of Import {in * lakhs)
o F AE ( wEl §)

2009 2010 2011 2012 2013 2014
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160. What was the percentage increase in imports from
year 2011 to 20127

arE A 5 2011 © =6 2012 ¥ frad wfvam =t 3fg gé?
(a) 25% (b) 40% (c) 20% (d) 50%

In which year the difference between the imports
and exports was minimum?

g = e iR fraf & fi= w1 i T ww e

(a) 2009 (b) 2010 (c) 2011 (d) 2012

In the following pie charts percentage of student
studied A, B, C and D in year 2014 and 2015 are shown.

frafafgd w-=r § 99 2014 3 2015,A,B, C 3R D =
PP F0 A i =t wfaema @ w8

161.

162.

Year 2014 = 2014 Year 2015 =d 2015

AvA

20%

Total students in year 2014 and year 2015 are
3600 and 4000 respectively.

ad 2014 2K 2015 # %1 fnfeai waw: 3600 3R 4000 2
Number of student who studied subject B and C

in year 2014 is how much percent less than that
of year 2015.

aﬁ2014ﬁﬁw8ﬁncqﬁm@lﬁaﬁi’ﬁaﬁp@na—§[q}

2015 % 5% Ued el ° frad wfiwa w0 2

(a)37.5 (b) 27.5 (c) 47.5
Direction (163-166):- Following table gwcﬁ?&
about the percentage change of the pop ng in a
partlcular town for given years. Go throu J}le chart
given and answer the question that fo]l

fr=featen arfee fgu T =t o gt TR =t <
F i 21 fFu Mo AR W 9 SR wed,

uﬁimqﬁa?h'
SFE A

Percentage inc rease@;p Mgflla tion

10 e § ‘W}

1
163. Which year out
population?

T o O W ¥ e ad we st S R

(a) 2008 (b) 2005 (c) 2010 (d) 2011
164. What was the population of the town in year 2009?

2009 ¥ TR F SAEEA] fhal «di?

(a) 3 b) 5

(c) 4 (d) can't be determined

of these 8 years has the highest

1212 |‘
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165. What was the percentage increase in population
of the town from 2005 to 20087
2005 ¥ 2008 7% T =t sHuEn ghs #1 ufaww w0 o
(a) 19% (b) 33.33%
(c) 22.6% (d) can't determined

166.How many vyears witnessed a decrease in
population across all the given years?
feu 1w ol anf § § frm aul sgEn § & e 22
()1 (b) 2 (c) 3 (d O
Directions: (167): Study the following bar graph
showing the percentage of children who can read at
first grade level, grouped by their grade level in an
Indian state. For example, in 2008, 82% of the children
from Standard 3 could read a text from ndard 1. Now
answer the following four quesions b ﬁ})n this graph.
= 5 7
FeifRa 9% OF F AEEE T 7o I3 ¥ 9g HEA
A Al A F e I 'R F AR T 9s
IR B folU, 2008 F Far 3 & & 4 1 % U8 YT g

A 3@ TF F AR W fEiEe IR v W oTw A

2006 w?}QDDS 2009 2010 2011
e R

Std 1 Std2 Std3 Std4 S5td 5

of average of all Std 1, 2, 3, 4, 5 children who could

read the Std 1 text?

ad 2010 § weft waa 1, 2, 3, 4, 3R 5 F "= 1 SqwaA

HM fohadl € Sl well UH ® UGB HI 9g Hehd €7

(a) 49.2% (b) 38.6%

(c) 34.6% (d) Data insufficient
Direction (168-171): Study the following graph carefully
and answer the question the question given below.
=1 s = sErEE 9R AR e Ry T ow w osw S
The graph gives the three types of mobile phones

) 32. 5{";{)—) 167.In the year 2010, what is the approximate value
115

manufactured by a company over the years.
1 W% Tk 3 H T FE g PR AeRd TR ® 99 YRR S9h S

Production of mobiles (in thousand)
HrETEEl T SRS (T 0 )
35 R0

o
0-5008 2009 2010'2011 2012
B B
Type X Type Y Type Z
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168.In which of the following years, the percentage
production of Y type mobile is maximum from Z
type mobile phones?

fr 4 9 ffg ad o, Z ysR & AEEd $E &t o § Y TR
% WiaEd BF F UE S afuda €2
(a) 2008 (b) 2010 (c) 2011 (d) 2012
169. The total number of all the three types of mobiles
manufactured was least in which of the following years?
g § 4 frg ad § A daEal =1 o IR A 87
(a)2011 (b) 2008 (c) 2010 (d) 2012
170. What 1s the percentage drop in the number of Z
type mobiles manufactured from 2009 to 2010?

9 2009-2010 9 59 9% 99 M0 Z TFR & Hiegel h e
¥ fr R # PR & 27

(2)25% () 50%  (c) 33.3% (d) 30%
171. The slope of the given line is: (g T @@ =1 @@ 2:)
'

A
=
< >
v
(a) Positive /9ATcHS (b) Negative/HUTH®

(c) Undefined/ smafofa (d) Zero/T=

Directions (172-175):The following pie chamlv}owé
proportion of population of seven villages in %[QOQ udy
the pie chart and answer question that to

frafafien ure- wﬂzowﬂwwﬁﬁﬂmm@@mﬁmw
?1 TR e Hifvn dn frefelga g w1 e G
R Z 3 "% of population

6% 11% Y},E%ggw] below povertyline
s Y O\ 38
11% 15%AT Y 52
wtedl 7 42
T \\ 142 R 51
21% | YN\ S 49
10% > T 46
4 Vv 58

172.If the below poverty line population of the willage
'X' 1s 12160, then the population of village 'S' 1s
afe 7ifa X' i e e g A w o 12160 ® @ v 'S
I e A g
() 18500  (b) 20500 (c) 22000  (d) 20000

173. The ratio of the below poverty line population of
village 'T' to that of the below poverty line
population of village 'Z' 1s

f b ;J :

Copyright © All Rights Reserved | https://spardha.guru/

g T #t e e ¥ R SR 99 e 20w e

g A Ft oerdt & U e 22

(@11:23 (b) 13:11 (c) 23:11 (d) 11:13
174.1f the population of the village 'R' 1s 32000, then

the below poverty line population of village 'Y' is

Ifg g 'R’ &t a@Er 32000 €, 1 g 'Y & e e | e

Ft et faadt 22

(a) 14100 (b) 15600 (c) 16500 (d) 17000
175.In 2010, the population of 'Y' and 'V' increases by

10% each and the percentage of population below

poverty line remains unchanged for all the

villages. If in 2009, the population of village Y was
30,000 then the below poverty line population of

village 'V' in 2010 is- &

2010 % 'Y' &k 'V e 7 emardt 10%AR wdt § siw wed

MaﬁnﬂrﬂmgﬁﬁmﬂwWMW%

afx 2000 T g V' F e 30‘,@0@31% # 20107 75 V'

* T Y # = F ga R 22

(a)11250 (b) 12760° (§“13140 (d) 13780
Directions(176-179):Study fhe following histogram of
marks in mathemathW of 50) of students in a class

g

and answer the _- o questions.

Fider (176-179): SFi = o F W ST (50 F F) F v A
et apepE w AN frafafes s $ 39 df

ﬁ‘-g . | 0 ..................
f“\ o4l 45
ayd J 9 A0 oo
S 35
%

10 preeeemmermsmennnas
|

C
u
H
3
&30
Lo
(-]
1=
L4
-
g
3
=

0 51015202530 35404550
Mathematics

176.If the pass marks in maths is 31, the number of
students who failed in maths is

afg nfor & 3=l of 31 21, d nfie o %o gu wEl w5 g'm

1 Brit?

(a)10 (b) 15 (c) 20 (d) 25
177.Total number of students in the class 1s

Fen ¥ o F T Hen T

(a)120 (b) 125 (c) 130 (d) 135
178.The percentage of passed students is (31 is the

pass marks)

3t gU B #1 gen (vfavm #) Faru? (3 e H # fan
31 3% sifafa 2)

8 8 8 8
(a] 856% (b] 866% [C] 876% (d] 8860/23

179.1If the students have got the marks out of 50 and

if A+ grade has been declared for above 90%, then
the number of students who have got A+ grade is

afs wEl #1 50 § | 3% fu M B 2t 90% | aife 3% ura
w0 9 o R A+ G S, ot fEma sl w5 A+ & T
(a) 10 (b) 20 (c) 30 d 40

|’1213
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Direction (180-183): In the given Pie-chart, the
comparative study of the production of rice, wheat,
sugar and tea of a country is given. Study the pie-chart
and answer the following questions.

frdor:- fau o wE—wE § 2w A =, 7, 9 o wm s
SCIRA I ered® FedR TR w21 Frefafen wel F sw oo
F Tgwt G

180. From this diagram, the ratio of sum of wheat and
sugar production to difference in production of rice
and tea is

o0 e ATER T I H $ we Sard 99 =ee i

M W IURA & S F IAE (A &2

(a)4:5 (b) S: 4 (c) 6:1 d) 1:6
181. The production of rice and tea is more/greater

than production of wheat by-

e R WM IAEA e ® IEd ¥ e s @2

(a) 50% (b) 100% (c) 75% (d) 66.6%
182. The central angle of wheat % 1is

% F1 W 07 fead fodt &1 27

(a)48° (b) 98° (c) 110° 108°
183. Total production of Rice, Wheat, Sugar and Te{; 'é

five 500000 kg. Find the production of e\vg;

e, g, d S A w e s soooﬁﬁm“;%w
¥ =1 1 A fhaw 22 >\

Co>
(a) 175000 kg/ 175000 fam. .
(b) 395000 kg/ 395000 fum W}
(c) 275000 kg/‘275000,:ﬁ.‘m(4
(d) 27500 kg/ 2750 ﬁm

Direction (184-187
study- time of di QE'

)
J

Tﬁq fo]_lomng pie-chart shows the
subject of a student in a day.

Study the p1 cha{:ﬁ,ga_nd answer the follwing questins

frefafen w-ae d ©F A 4 % 30 % fawE & asman 9w
AT T RE-AE I R S e

184. Tre time spent to study history and chemistry is
1214
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4 hors 30 minutes, Then the student studies phys-
ics for
Zfiterd 3 WEA 1 FegE FE@ 4 4 502 30 fir Tz %1 9wy o
@ 3@ 7 GfFw 1 wE fEmE g F
(a) 1 hour 30 min (b)
(c) 2 hours (d) 3 hours

185.If then student studies chemistry for 3 hours, then
he/she studies geography for

Ife B A WEA F RE 3 9 I, G SHA i F R fhma

2.9 hour (approx.)

AT FI?
(a) 1 hour (b) 2 hours
(c) 1 hour 30 minutes (d) 2 hrs 30 min

186.If the student studies 10 hours in a day, then he/
she studies mathematic for

e am8 3 T e 1owmmm§a§v¢mﬁmw

g Hi?
(a) 3 hour [b]'Tla ]:03/ 3 hour
(c) 1/3 hour {d]:«}g? 10 hour

187. Instead of 10%, if the stui&ent spends 15% to study
b e is taken from the time

scheduled to stlﬁly ‘mathematics and if he/she
used to study 20 urs per day, then ther differ-
ence of t]gnd%qr studying mathematics per day is

A B A B9 § 10% F1 951 15% W99 w7 81 ST 78
5 % Fviifte T & & P & oin 7R T e
203@@%5 @ wfafed i wed & w9a F1 S e €7

flﬂ} 30re§mnutes (b) 45 minutes
‘{c}«-»iﬁour (d) 1 hr 30 minutes

‘/quéﬁon (188-191): Study the pie-chart carefully and
.@g&wer the questions. The p1e chart represents the
\ percentage of people involved in various occupations.

Total number of people = 20000

frefafen o =@ § fafa=t sgawrEl & ufaem sy T 81 aE-=e
F AT AT HIAT AT v T=n 485 ¥ 488 F1 I A
@ @t Fe HeAa = 20000

Agriculture
33.30%

Transpo- 20%
rtation
10%

188. How many more people are involved in service
than in trade?
AR F oA § Y | WiHa o w1 we fEa @2
(a) 3660 (b) 2660 (c) 1660 (d] 660
189.The ratio of the people involved in service to that
of industry is
Yo § wiftie & SR SEm § wfae @ # suE w=n 27
(a)l:2 (b) 2:3 ) 3:4 df 3:2
190.The sectorial angle made by the people involved
in service in the given pie-chart is
fed ™ wE-ae ¥ 9= | wfta @ g o e o feae
e w1 &7
(a) 36° (b) 90° () 72° (dj 108°

191. The difference between the maximum number of

gﬁ?l‘gﬁl% andwmlmmum number of f))eo(ﬁ'lla guru
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fafa= oramEl & wifer e 1 sifuwan ge AR =

e & 9 ofw faa 22

(a)264 (b) 364 (c) 632 (d) 5320
Direction (192-195): The bar graph given indicates
the income of a firm. Study the graph and answer the
question given.

7=t fionm TN AW WE UF FUA FI T 90T B SN TR H ASEH

FifTu 3 goA = SW i)

J

=

s
o

Incomne (in lakhs rupees)

S K $ @

Jan Feb Mar Apr May
192. Which period shows a steady increase of income?

e owe o o F frea sl g #7

(a) March to May/®i< € Wg &%

(b) February to April /%@t 9 oqie %

(c) February to May /%%t d T o

(d) Insufficient data to predict/#i®Hg 9aia 2

193. During which month, the ratio of the income to
that of the previous month is the largest?

g e W omg #1 0 WE H o ¥ orue sfean 82

TE F i oiF R 87
()63.2  (b) 45.5  (c) 60.2 d) 55.5
198. The number of students who have scored between
39 and 80 1s
39 3R 80 % ¥ i® U FH =t T HP weAl fhe 82
(a)22 (b) 18 (c) 37 (d) 15
199. Percentage of students who have secured marks
more than 59 is
59 ¥ ofas &% Ww A ael SEl #1 wfavE A 27
(a)13 (b) 17 (c) 34 (d 26
Direction (200-203): Study the bar diagram carefully
and answer the question. The bar diagram shows the
trends of foreign direct investment (FDI) into India

from all over the World (in - crores)
IR OWE H O o 9 9ra o faEei wee (wgﬁarné)
FI g F Tl T R AR WE H %mqafrﬁrq
: fe 3 “ A
bl e el ’}W‘&;
3%
35 ~NE o
30 \o? 7
25 &
20

15 f
10 E.n

£ & ¥

1993
1994
995
1996
1997

—

il
200. Thc sufgbf FDI of 1992 and 1993 is
{Qagaflt 1993 ¥ fereft werst famr =1 et = feramn 22

(a) February/wead (b) March/ard @18 .58 cr/=s b) 15.85 cr/=FdE
(c) April/ e d) May/5E Ze) (0) 1522 or/wie d) 15.65 cr/ Tl
194. The income in May is how many times to that gf)ﬁOl The year which exhibited the 2nd highest growth
February? U) percentage in FDI in india over the period shown is
7E F A HEH F o F Fedt T 87 g;?*f;;, <t Tt srafy ¥ v # e ad A fadta waifas faselt wwme
(a)3.25 b) 4 (c) 3.5 (dg\J” fRw fe T2
(@)1993  (b) 1994 (c) 1997  (d) 1996

195.The average monthly income mﬁirm (in
lakh ) is (FF 31 ﬁmmm (; g\ ) FR7)
(a)7.6 (b) 6 (c) 8
(d) None of these/T & =ig

Directions (196-199): Study t “fifstogram of marks
(in Mathematics) dist1‘ibuti%’”qff50 students of class
IX and answer the follo\ g questions.

?&1[)(3?50@13‘{%"31? % femmm # qeE wifan s

g()

L1l L L
T
Lo

& ;

LN =] D e e

= o

Ll 1l

Number of atu

0 20 40 60 80 100

196. The number of studl:;;ks who have secured marks
less than 60 1s
60 ¥ F9 F WE FW ATl vl F H@n At 27
(a)12 (b) 15 (c) 33 d 7

197. The average marks of the students

info@spardha.guru
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202.The ratio of investment in 1997 to the average
investment is

woft 76 & 2iwd FRw 3 W9 1997 # iR FRw 1 oTa 22

(@)2:1 (b) 1:2 €) 1:1 d 3:1
203.The difference between FDI of 1997 and 1996

a9 1996 @i 1997 ¥ fau wu FEw 1 3w #0

(a)7.29 () 7.03  (c) 7.16 d 7.22

Direction (204-207):- Study the graph and answer the
following questions.

The graph shows the number of bicycles parked
in the parking space of a hall at various points of time.

TMF F1 315909 &L iR Feafafed uoa $ 39 dfsu
F H Rt gTa & IR TE W AeT- e 99 ¥ 9T
T wEfEe gutd w27

|"1215
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100] 95

o0 85

80 75 75

79 55 65

60 55 55

50 45 45
40 35

30 25
20
10

i ITTELELELLE

Number of parked bicycles

204. Charges for parking is ‘1 per hour. What will be

the total collection from 9am to 7pm.

uifen frera =fg 'l ofa 521 & o 9= 9 99 9 W 7 9 9%

o fFa gTofa wwhm enft?

(a) * 625 (b) 635 (c) * 685 (d) "~ 695

What 1s the percentage decrease in number of parked

cycles between 7 pm and 8 pm? (in whole number)

a7 99 " 8 F d9 U &I T8 WEfkal & den § ged

afuer it wfaem 1 &7

(a)30 (b) 38 (c) 42 d) 45

206. What is the average number of parked cycles as
seen from the graph?

T T W 900, TH F1 T Oifma #1 oiem e 71 27
(a) 40 (b) 45 (c) 55 (d) 60
207. How many times, as mentioned in the graph, is
the number of parked cycles above average?
MF F fera o1 9 TS @Rl w S e 9 S 87
(a)3 (b) 4 (e) 5 (d 6
Directions (208-211): The graph shows the production
of food grains of a country in different. Study the graph

and answer the questions.

mqﬁmmﬁfmaﬁﬁwﬁmw%wyu@ﬁ
mqa?nﬁnmf@ama%mml ““‘j

205.

f»v%.
40 ;—-\\WJ
TR a5
30 el

b3
(=]

Production of Food Grans
[in thousand tonnes)

—

(=]

o

1980 1981 19 19&3 1084 1985

208. The sum of the pri?xcnoh 'of food gralns in the
year 1982 and 1984 is equal to that in the year:

a8 1982 @R 1984 % =i & Scqred F1 4 fFg 79 &

SO & W BT N\
(a) 1980 (b}\ﬁq;}m (c) 1983 () 1985
209. The diff the producﬁon of food grains for

the yea 1@” and 1985 1s

a9 1981 iR 1985 ¥ @i F Scoed 1 S fhaw 87
(a) 500 tonnes (b) 1000 tonnes

(c) 5000 tonnes (d) 10000 tonnes

210. The percentage increase in prodution from 1984
to 1985 was

9 1984 T 1985 7% 3cued # fwad ufaym gfg g22
(a) 150 (b) 120  (c) 95 () 100
The two consecutive years in which rate of change
of production of food grains is minimum are

211.

1216 |
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4 FA-4 < O ad € A s S w ufEd 9

a9 F9 &7

(a) 1980 and 1981

(b) 1982 and 1983

(c) 1984 and 1985

(d) 1983 and 1984
Directions:- (212-215) A bar grapn showing the
heights of six mountain peaks. Study the bar graph
and answer questions
AR WF F AR Fifaw dr Frafafen g # 3w S ow o
6 el fyrer &t R v W #)

Mountain Peales

s }
212. <]flie average height of all the peaks (in meters) 1is

Af”*) mE § 6 udd fownl 1 oaan i R 1 wd fred @t

\5 sraa 3= (i ®) s Fifew

(a)7601.5 (b) 7600  (c) 7599.5 (d) 7610
213. Which peak is the second highest?

THU o S foer wE-a 87

(a)B (b) C (c) A @ E

214. Write the ratio of the heights of the highest peak
and the lowest peak
Segan frer @i fean forer 1 S9E #1 9E qaEu?
(a)22:15 (b) 15:22 (c) 20:13 (dj 13:22
215. When the heights of the given peaks are written

in ascending order, what is the average of the

middle two peaks?
F 3 foreRl 1 aiga ¥ 22
(a) 7950 m/7950 . b) 7560 m/7560 .

(c) 7650 m/7650 Hi. (d) 7850 m/7850 .

Directions (216-219): The graph shows the exchange
reserves of a country in different years. Study the graph
and answer the questions.

T H feet <y fafe= 9§ vewsSied #oqwtm T § uE @6
oA Fifew 3R frefafes o & 3w Sfe
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216. The ratio of number of years, in which the foreign
exchange reserves are above the average
reserves, to those in which the reserves are below
the average reserves is
T o 1 g o wEEy o fed @ 3w @ E s
Tl 1 wen fomd sied, o 9 9 @ 8, 1 SgdE 4 g
(@2:6  (b)3:4 (c)3:5 d) 4:4

217.The exchange reserves in 1996-1997 were

approximately what percent of the average
exchange reserves over the period under review?

o 1996-1997 W wrasis s, sfrod wasist fise 1 e

e wfaem @1’

(a)95% (b) 110% (c) 115% (d) 124%
218. The percentage increase in the foreign exchange

reserves in 1997-98 over 1993-94 is

221. Total enrollments in both State University and Central
University during the year 1980, 1990 and 2000 is.
= 1980, 1990 3t 2000 ¥ =7 it F= favafarem FHi
A ma e TmiFa fmd ™ 42
(2) 80000 (b) 66000 (c) 70000 (d) 76000

222. Ratio of the total enrollments in the year 1980 and 2000
at the State University and Central University is
=i 1980 2w 2000 & 11 favafaerem =it &= favafaaem
H TU FA AHIEA F1 SO qq€A?

(a)4:5 (b) 2:3 (c) 6:5 (d 5:6
223.The tuition fee at State University in the year
2000 was 6500 per enrollment. What was the total

revenue collected from the tuition fee at State
University during that year? V

T fowafeeme™ dad 2000 % ZRHA 65939&1% 1 39
a&mﬁwﬁiﬂmﬁwwﬁm%mwﬁmw?
(a) 80,000,000 ~(B), 78,000,000
(c) 65,000,000 (,)) 56,000,000

Directions:- (224-2 '?}%e bar graph shows the
production of table faqgjn a factory during one week.
Study the barf gyélﬁh and answer the question.

i 1997-98 # =i 1993-94 F1 arien wwwr frowd # fabay T VAR AF F A 7 % U T F AR S e # S
i afus e 52 N T #1 A WG A A R Frefafen e F I
(a) 100 (b) 150  (c) 200 d 120 y W 800 —
219. Ratio of the sum of exchange during the year 1991- ﬂh} e I 700 —|
92, 1992-93, 1993-94 to that during the years QJF / 600 —|  s20
1995-96, 1996-98 is ‘/Jm) g% 500 —
7§ 1991-92, 1996-93, 1993-94 + wFAAT ﬁ_'l'q; £ 'q*l \? 3 gg 400 36 320
it T 1995-96, 1996-97, 1997-98 % THET j e i
— 120
A TSI A w2 f\w m_ﬂ HH
(a)31:35 (b) 35:31 (c) 37:52 (d"$2437 e o
Direction (220-223): Study the follomﬁf&bﬁr graph Zﬁyf & &y
carefully and answer the questLons;H 224.The maximum production exceeds the minimum
o (220-223): f=fafed ar 7w ““s@ ofed AT 9 & prodution by:
3T <ifd| j Afehan Ieaed FAad Seared 9 fea sifew 87
IStateUﬂlCeg,itmlU (a) 400 (b) 420  (c) 540 (d) 540

_16
ol
514
12
=]
g‘lO
g 8
g_ 6 g
e
m‘;._%v 3 5,
% 1930 1990 2000
Years

220.In 1990, how many more students were enrolled
at State University that at Central University?

a8 1990 ¥ @ favafamem %1 gan o wa favafgmea &
e faenefl s it gu 97

(a) 1505 students/ 1505 fazneif

(b) 1650 students/1650 fazneff

(c) 2000 students /2000 fazmeff

(d) 1980 students/1980 fazneff

info@spardha.guru
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225.The average production of table fan in the week is

39 R | o9 q@ H e Seed fEan 87

(a) 370 (b) 280 (c) 300 (d) 250
226.Ratio of the total production of table fans in the

factory from Monday to Wednesday to that from

Thursday to Saturday is

hel § QAR € YR 9% 299 vl % el SR AR RN

§ VAR 9% % Hel ST F1 9 {27

(a) 19:26 (b) 26:19  (c) 29:16 (d) 16:29
227.The average production of table fans on Monday

& Tuesdays exceeds the average production of

table fans during the week by

AR AR TreEr ) A TEl w1 e, o e I

fera wiferka el €2

(a) 150 fans/150 W&  (b) 100 fans/100 W&

(c) 140 fans/140 &  (d) 200 fans/200 4&
Directions (228-231):The following figure shows the
number of students (in thousands) admitted and pas
out per year in a college during years 2000 t01 Ofil 7
study the figure and answer the questions.
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frafafaa amgfa # frdt #fem § = 2000 | = 2004 7%
ufd o et gu o el gu onl #1 gem (g9 #) wfdt w2
AT F oEEE F U F oI Jifee?

0 pdmitted
11 W Passout

10

2
Number
af
Students &
11000

4

2

2000 2001 2002 2003 2004
Year

228.The percent increase in the number of students
admitted i the year 2003 over that in 2001 is
o 2001 F g 4§ 2003 ¥ 7w TEA 37 Few A
yfewra gfig Rt 27
(a)133.3  (b) 33.3  (c) 40.3 d) 66.7
229. During 2000 to 2003 the ratio of the total number
of the students passed out to the total number of
students admitted 1is
a4 2000 € 2003 ¥ wdff U BE #1 FHe S 3 3+l gu
BT H Fol HEA F1 UM 79 FHifee?
(a)23/17 (b) 17/6 () 11/23 (d) 5/7
230.In which of the two years, the pass percentage of
students was between 60 to 70?

FA- 3 76 § BE F Il vfaed 60 ¥ 70 & e of?
(a) 2000 and 2001/2000 =R 2001
(b) 2003 and 2004/2003 3t 2004
(c) 2001 and 2002/2001 R 2002 )
(d) None of these/T™ & *ig &l {’D—)
231.The ratio of the number of students ad ed "in
the year 2002 to the average of the of
students passed out in the years 2003 d‘.2004 1s.
aﬁzoozﬁqﬁgqmﬁﬁﬁma#aﬁ;@sam 2004
w Sl gy o #t §em % a‘ﬁ'ﬂﬁw
@)7:8  ()8:9 (o) d) 8:7
Direction(232-234):Study t Td]iomng bar graph and

answer the question. The Ear °‘gr‘aph gives the annual
rates of inflation in perdemtages for 1975 and 1987.

Trafafer ar-mw w1 e jri"dmuﬁmm%mmnaﬁ
1975 @ 1987 a% wwﬁﬁmﬁmmmﬁﬂﬁ%

2{3 @‘,}

1218 |‘|
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232.From 1975 to 1987, inflation

233.The change in
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D Year 1975
|:] Year 1987

40

36.2

26.6

30
25
20
15
10

21.7
23.5

14.6

16

1.8
14.2

2

v

UsA =127

o
World]
world |

13

Developed|
nations

increased in
the third world countries apﬁ?:l,;g ately by
af 1975 9 1987 & 9 fiad 5 < o wg1 fewifa =
= F ey et 3fs g—'?y
(a) 10% (b) 29../9 ﬁglﬁj 30% (d 36%

ation was least in which

of the followi g
gmﬁhﬁ%ﬁéﬁﬁﬂmﬂﬁﬂﬂaﬁﬁ?

(a) D?@ ations/fawfoa 29 o
(b) U F

(d) Third world /i gfrn 3

)J W‘ d/feva #
23 paring the figures for USA vis-a-vis the

140

‘developed nations, it can be concluded that.

fafaa 2o & a2l 1 gor 999 T smfia & siwel |
FE W TE FroRd feen s wwa @ fm

(a) USA had better control on inflation
HYHK T AR 1 qE TR W oSEER = oo

(b) Developed nations had better control on
inflation

fafoa 2o &1 g1 wFifa 9@ dgar fE=or o

(c) continues to be the same for USA and
developed nations

G U e @R famfad <o § gm vRifa o w St
@ R

(d) No conclusions can be drawn

15 ffa A€l fsen s gl ©

Directions (235-238) Study the bar diagram and answer
the following questions.

a7 YEfas w5 derEd i o frafafed weA # s i
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. Mark in 1st term
" Mark in 2nd term

100+
90 +
a0 +
70 <+
60 +
50 +
40 +
30 +
20 <+
10 +
0

Ewglich  Moths  Physies Chomistry Biclegr
Buljects

235. Average marks obtained in Physics for two terms is
A Ae o difaw wre ¥ fre ufawe s wra gu
(a)80.5 (b) 82.5 (c) 72.5 (d) 83.5

236. Difference of marks obtained in both the terms
by the students is maximum in

B 5 A T H W HH B o sfadan fre fug | @2

(a) English /3#sft (b) Physics/faw faem

(c) Biology/ i fasm (d) Mathematics/7fora
237. What 1s the percentage of marks obtained in

chemistry for both the terms?

S i § A fawm # wratewt w1 gfave fEan 27

()76.5  (b) 56.7  (c) 67.5 d) 75.6
238. The ratio of the average of the marks obtamed in Biology

SeraE R # fean vm e g 7

2 1
b) = © o (d) 10
241.The total monthly expenditure of the company is

FOF F1 FHe WHF = AT &7

(a) 153 Lakh/zma (b) 315 Lakh/ma

(c) 135 Lakh /=@ ) 531 Lakh/e=me
242.The ratio between transport and employee salary

on monthly basis is

Hifgsr MR W dfEed iR wHEREl # S & die seuE R

(a)1:4 (b) 4:3 ) 3:4 d 4:1
Directions (243-246): This is a pie chart for the data
on A, B, O, AB blood groups of 150 donors. Observe the
pie chart and answer the questions

few Mo o = # 150 e % e q9 A,

(@) 132

243.The nutfiber of donors having group 'O' is:
Sl wea say fod g g9 ‘0 87
(aj50 (b) 42 (c) 30 d 34

for two terms to the average of the marks obtained A%j} The number of persons having either blood group

in English and Mathematics for first term only isjm D)
S T @ St faem § s st st wer A vem W)

aﬁsﬂaﬁzwﬁmﬁmaﬂmaﬁmwwﬁyfﬁ

(a)43:92 (b) 39:42 (c) 29:34 (d ,é{é:
Directions (239-242):- The graph shows t \e\ onthly
expenditure of a company (unit = 10 191{};»}3.\ tudy the
graph and answer the question B .
wﬁﬁwﬁmﬁaﬁmmaﬁmﬁ%ﬁ}mmwmﬁm
AR freAfafen wel & s difq? mﬁm)
a0 »\“.,3
80 |
70
60

5@ ){
SN,
LY ¢
3({ -
20
10
0

A

.

L=

Refreshments s 2
transport

Electricity

Miscellaneous

Emplcyees‘éaia'fm, ‘?\

|
]

=

Tye pf expenditure
239. The percentage of money spent on miscellaneous is
fafay 7= w foem wftem ofn == g27
2 2 1 2
[a}?ﬁ (b) 17? (c) 113 (d) 9?

240. The fraction of money spent on refreshments is
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'A' or blood group 'B' is
UG =AfFal Ft Wem Jaet 5w =9 gu @ at 'A' g ‘B e
(a) 84 (b) 96 (c) 78 (d) 54
245. What is the percentage of donor having blood group 'AB?
Y <A w1 wiovaa saRy e s g9 AB' €7
(a)61% (b) 26% (c) 16% (dj 36%
246. The ratio of donors blood group 'A' to the average of
the donors group 'O, 'B' and 'AB' is
fom sl #1 s qu A’ ® I @i fa et @ see g
'O, 'B' @it 'AB' € % i9d 1, I 96 Hif?
(a)4:3 (b) 4:5 €) S:4 d 3:4
Direction (247-251) The following pie-chart shows the
mothly expenditure of a family on various items. If the
family spends Rs. 825 on clothing answer the question
fr=fafea o wd & fedt afar & fafa= w8l @8R g ad #6
<ot T #) gl ufen g W 825 T 'H w @ T HeA
196-200 % Swr i)

|“1219
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253.

fafan
Miscell

Aareous
72"

247. What is the total monthly income of the family ?
(a) Rs. 8025/8025 & (b) Rs. 8250/8250 ®
(c) Rs. 8520/8520 & (d) Rs. 8052/8052 ®
248. What percent of the total income does the family
save
ofEr § e M Fi e wiaea ufen & # awa & W e ?
(a) 15 % (b) 50 % (c) 20 % (d) 25 %
249. What is the ratio of expenses on food and miscel-
laneous?
a9 3l fafay e W @ o = & o % F A § 2
@3:4 (b)3:2 (c)2:3 d 2:5
250. What is the average of expenses of clothing and rent
@ 3R fFE W =@ eF ol siga e san ?
(a) Rs. 1443.75/1443.75 ®

254.

255.

(a) 2005 (b) 2050 (c) 2500 (dj 2055

By how much percentage is the average number of
females from all the organisations together is more
than the number of males in organization 'D'?

et " § wfgensi w1 sfwa wem w@wed D' W gEw H
Hem ¥ foa wfem s 27

(@)30%  (b) 38%  (c) 40%  (d) 45%
What 1s the ratio of the number of females from
the organisations B and C to the number of males
from the organisations D and E?

@ed B 3R C %1 Afeensii 1 g& #1 @1ed D @R E % 1@
F1 HEeM q FuE 87

(@)12:11 (b) 12:15 () 11:15 (d) 15:11
Males from organisations A and B together from
what percent of total numbe; males from
organisations C, D and E to& he
Amsmaﬁmgwﬂaﬁuﬁw D i E 5l & 53
gEl 1 He fea wie, 2 O

(a) 78.04% < 87.44%

(c) 47.08% O\ QJd) 74.08%

Directions (256- 260] £The table given below shows the

number of licants who have applied for exam
at Var101i§, centres as percentage of total number
of app aﬁapa The table also shows the number
onli ‘a@hcants and absent applicants as a per-

(b) Rs. 1344.57/1344.57 ® xgent&géé of total applicants of each centre. Total

(c) Rs. 1574.34/1574.34 &
(d) Rs. 1734.45/1734.45 ®

251. The ratio of average of expenses on food, cloth_lng [ N}
and miscellaneous items to the average of e&w
penses of on saving and rent 1is f }

Ao, T AR fafay Wl W BN 9 ' F iwa
ﬁmﬁwaﬁaﬁaﬁa&aﬁmﬂmw%9 1 jj
(a)3:2 b)2:1 e)I »38 [l
Direction (252-257): The following Bar-di ows total
number of males and females in ‘e different
organisations. Study it carefully to a s‘xﬁer the questions.
frdyr (252-256): ur¥ fafa wreH n@ 3R wfeenei # Hem

1 g9 9t e =-eriE H=3 JugE v # oW Afwwy 256
.\L{éfﬁ!?‘?\ 1 Female, ATFeTH

Number of people fubi &1 dea

Organization/ §m1 —
252. What 1s the difference between the total number
of females and the total number of males from all

the organisations together?

w4l wreAl ® wigensdl #1 Hol WA 941 Ul F R AN

F S = 82 258.

1220 |‘
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257.

\b&r of applicants 1s 1200000.

rﬁ?fﬁﬂéﬂmqﬁﬁmqﬂwmuwmmwww

sfedEl ot den w wa sl St den % ufava & w9 o
AT T ¥ B TR Fedh W He F SHAes svafel qen
sqafeea 1afesi it dem w1 w5 svafiEl wt Jen # e
& wy § quidl #1 safedai 1 s @' 1200000 2

. Absent
Exam centre | Total applicant m}:];:::nts applicants
i = w71 Al z::m-:: P s
e
F 15% 30% 36%
G 25% 44% 25%
H 20% 52% 3%
J 24% 46% 18%
K 16% 38% 20%

If A equals to 15% of total applicants who are present
at exam centre F and B equals to present appli-
cants at centre K, then A is what percent of B?

afy A wlian = F W Sufeem erafefai 1 o dem & 15%
& aat € A1 B e # K W suften e & sua €,
@ A, B %1 e ufier 22

(a) 18.18 (b) 11.25

(c) 13.33 (d) 14.28

Total number of offline applicants from exam centre
H, K and F are how much less than the total number
of present applicants from exam centre G and J?
el &% H, K 5en F & s@ sitwens sl #1 oo e, oie
F7 Gan J o sufer sl = e e A fead #h 22
(a) 111420 (b) 100920

(c) 127370 (d) 109990

What are the total number of offline applicants
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259.

260.

Directions (261-265) :

from the exam centre F, H, J and G? u{ien = F,
H,J 71 G § aithened el 1 wa geq #0 87

(a) 393720 (b) 963000

(c) 564720 (d) 428540

What is the ratio of total number of present appli-
cants from exam centre K to total number of
offline applicants from exam centre J?

e Fg K ¥ we sufem avafifal o g w1 adhen 5 J
T Hel AlwerEd At # gen 9 #7 SIE 87

(a) 40:41 (b) 80: 81

(¢) 10:9 (d) 7:11

What are total number of present applicants from
exam centre H and G together?

when &% Haa G feres sufter srafei =1 %ol den 71 7
(a) 238200 (b) 151800
(c) 388200 (d) 442650
The table below shows the sales

of milk in six different states as a percentage of
total sales. In each state only two milkmen A and
B sell the milk. The table below shows the sales

of salesman A as percentage of total sale of milk
in each state. The total sales of milk 1s 200000
litres.

e < T8 AR | ©: fafte= Il | g4 % e faw! Sl
Wit H I T 1 9o T | e 31 59 fesar A wen
B 4wd 21 A9 & T aifert Wl T @ g4 i e et

264.

265.

number (in

partments o

of males

by the average sale of milk in state Q, T and S
together? Us4 Q,T d¥l S I fHaT ¢ 59 &1 siwd fashl
BRI S A ATl hearg o e | )= w2

(a) 112.6 (b) 72

(c] 36 (d) 54

What will be difference(in litresjin the sale of milk

in state T by salesmen B and the total of milk in
state R and S together?

Toa TH foshan Bgm =t 78 341 =it fasw! R 21 SH faeme
78 e fas § @ s (efex °#) 77

(a] 17600 (b) 42400

(c) 38800 (d) 19000 &

What is the difference(in litres pt.ween the sale
of milk in state R by salesmen Amhd the sale of
milk in the same state bﬁrtl'fe salesmen B?

T R¥ foshar A gr1 #1358 #1 fast a=n voa ® fagwan
Bgmaﬁnéyaﬁf‘aﬁnﬁm(vﬂaﬁ) 22

(a) 2000 v \(bf 0
(c) 12000 , /() 8000
Dimctionswéﬁﬁ -270) : The given table shows the

) ‘of employees working in dirrerent de-
- organizatiorl. The table also shows the ratio
d, females and the ratio of employees living in

city 33 and“é”fgﬁployees living in city Y. The total number of

E1T]]

eesm:[’ the orgamization are 8000.
ﬁ{aﬁmﬁwm%ﬁfwwﬁmmﬁmﬁﬂﬁﬁ

?mﬁﬁmA@mﬁnﬁﬁﬁﬁmﬁﬁlqa?f#m(mq)aﬂmw%la%'WWamnféwﬁa?

% Tt 200000 e 21
State Sales of milk Sales by s I
T 34 F1 fagh! A/fawar &grq ﬁéﬁ
P 24% ,65,6
Q 10% %
R 17% 31N 50%
S 13% ﬁf# )7 70%
o ‘ ”‘ "\;“ 0,
T 22% A\D 60%
U 140/ 80%

261.

262.

263.

info@spardha.guru

What are the a

g sales of milk (in litres) by
o 11:} all the given states?

few M wsq A %Amﬁ*ﬁ@ﬁaﬂ'ﬂﬁﬁaﬁ
(vt W)/ fomarft 37 g

(a) 2186667 (b) 26466.6

(c) 19200 (d) 26000

What is the respective ratio of sales of milk in
state P and Q by salesmen B and the sales of milk
in state R and T by salesmen A ?

T Pag Q¥ forshal BERI &1 T 54 =l fagh! qen 159 R
TH faghcl AGRI 1 78 g9 &1 fashl I shoRl: S99 o1 87
(a) 52 : 109 (b) 104 : 217

(c) 52:31 (d)y 31:57

What will be the central angle(in degrees)formed

266.

268.

Copyright © All Rights Reserved | https://spardha.guru/

\mﬁammzﬁwwmmmYﬁﬁﬁmﬁm
@ ST o T $1 WS | e e 31 Hew 80000 2

Department/| v+ .| Gender/ City/
. | Number of
emoloyees/ it

ey

M:F

fam

I HE

A 105, 7.3 1:9

22% 13: 9 319

b3 [
wn

B

C 1

D 20 h 314
E

|5:L3

How many employees of department A and C together
are living in city Z?

faam Agen C % frad ward, wiee Z ¥ w1 fierat ® @ 217
(a) 9000 (b) 9200

(c) 8800 (d) 8200

. Male emoloyees of department E is what percent of the

emoloyees living in city Z from department A?

faam E & qeu w=nt, faum A9 e Z ® w = st
1 fohed wffem &7

(a) 1600 (b) 2400

(c) 3200 (d) 4200

‘What is the ration of male emoloyee working in depart-

|’ 1221
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ment B and D together to female emoloyee working in
department A and E together?

faam B aun D =t faeist e st @ 9oy e @ faem
A @ E = foerey &1 w1 @ wfgen s § e agea 2
(a) 13:8 (b)25:7

(c) 23:9 (d)7:9

On an average how many residents of city Y are work-
ing in each department?

et Y % fohad framit s uw faam § & 9 et €2
(a) 11360 (b) 12420

(c) 9130 (d) 10940

‘What are the total number of employee in department
A and E together?

faam Adur B frome w01 wH=ifEi #1 gen = 22
(A) 29400 (B) 17600

(C) 46400 (D) 36800

Directions (271-275) : The table given below shows
the information about bats manufactured by 6
different companies. Each company manufac-
tures only plastic and wooden bats. Each company
labels these bats as Brand A or Band B. The table
shows the number of plastic bats as a percentage
of total bats manufactured by each company. It
also shows the ratio of wooden bats labeled A and
B. Each company manufactured a total of 550000
bats.

e & w8 difersnt 6 fafe=r wufai g senfed aeei = o §

269.

aﬁa?ﬁaﬂwﬁ%mm%aﬁmam%

el F1 IAEA HIE T UOE HAT T T B
mBﬁmwmm%lmﬁqﬁ%

wﬁﬁwﬁmmawﬁmﬁﬁ?ﬁ%m
1 YA T ) A A AN B AV & AGH- ﬁ%#ﬁmsﬂcrm
1 of 7idt &1 W B F1 I B 550000 = #)

Company/| Plastic bats/ %aﬁd”'ﬂ : Brand B
T |wifes 3 i\ dvE A FvE B
A~
R 55% "\ 21:4
g g
S ﬂ:% &:
T | 5% 6:19
. -

u /4 S 5% 41:14

v {7 e0% 7:15

W 40% 5:6

271. What 1s the total number of wooden bats of brand

A manufactured by comapany T?
AT T GRI S 5198 A & T1ohel o doaii o a1 e 1 Bl
(a) 23420 (b) 22990
(c) 68920 (d) 72600
N = Wooden bats of Brand B manufactured by U.
M = Total wooden bats manufactured by R and W

272.

1222 |
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together.
What is the value of N/M?

N = U g1 SIfad 5vs B & @h€l & dod|
M = Ra W g1 faers 3anfaq =& aet|
N/M 5 &1 37

(a) 0.043 (b) 0.061

(c] 0.125 d) 0.008

P = Sum of wooden bats brand B manutactured by
S and wooden bats of Brand A manufactured by W.

Q = Difference of Brand B wooden bats and Brand
A wooden bats manufactured by U.
What is the value P - Q?

P = S & 39 UE BF oig %3
ICNEA FE AT TAHE & awl

Q=Ugnr IdIfed sUe B © @s&é}—vﬁmmA#
maﬁmawﬁemwm Q A 87

(a) 67500 [b]«u???oo
(c) 159500 W{J] 123500

Taking all 6 corgﬁises together, how many bats
of Brand A have'beén produced?

273.

i dem W s

274.

Hﬁﬁﬁ‘t{ﬁaﬁ%{ﬁwmA%fmﬁmﬁﬁﬁﬁ
ERip] ?:M_;
(a) 0% (b) 724000

C] 6“8\3‘;000 (d) 716000
27 Q(*‘?Vérageafplasﬁcbatsmmmfacturedbyv Uand T.
¥ ="Wooden bats of Brand A manufactured by V.

/f ) What is the value X - Y?

X =V, U e T 5N SWIE @i & dqoal 1 Al

Y =V 51 3AfEd 9I9€ A &% THE! % aecll

X —Y @1 4 #1 €?

(a) 197600 (b) 432890

(c] 260000 (d) 293300
Directions (276-280): Read the information carefully

and answer the given questions.

The table given below shows the number of
students who were absent and percentage of students
who were present in the given two examinations from
five different schools. The table also shows the
percentage of students who were present in the Biology
and Physics examination respectively?

a‘rnﬁmmmﬁqﬁmmmuﬂ“fmwﬂm Bkt

Ul T e e e A wwwnmﬁfmmﬂa@ﬁs
Wﬁﬁﬁmwmﬁaﬁmaﬁmaﬁmw%l
et e Siem fae ao sifest = oden & suftem foenfeli =
e =i st i €2
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278.

279.
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. If the number of

Biology
Absent 1 | PTeSent( g o | Physics
School | (in %) / s (in %) /
Regarerr | T3 | ot s
(% #) % # (% %
(%

K 83300 85 32 g8

L | 101520 80 29 71

M 113520 | 40 30 70

N 60830 65 47 58

0 24003 55 25 75

What is the differennce between the number of
students who were presentin Physics and Biology
examination from school N?

fammera N | siifast an sita fagm =t 7hen o sufeem famferr

* Hem ¥ 7 S E?

(a) 21150 (b) 14352

(c) 22594 (@ 24250

Number of students who were present in Physics

examination from school M is what percent of mumber
of students who were absent from school M, L and O?

oo M A Sifiet +1 giten o suferq fFeifiai =1 den, e
M , Laen O srafeam foenfelli %t s =1 fram whmm €2
(a) 22.48 (b) 20.28

(c) 9.09 d 13.4

What is the average of the number of students
who were present in Physics examination from
school N, Kand L?

fommer N, K @en L& 4iifqat =t oiten § sufrea faenfofai =t
He w1 e w27

(a) 109635 (b) 84632 A J” 2

(c) 74365 d) 67894 - )

What are the total number of students who. Were 282.
present in the Biology examination ff’” m‘ﬁl the

schools together? " “ ~rt

uMWm@%mﬁWmﬁﬁw% forfeli =

e w1 37
(a) 193462 (b). 24@
(c) 326438 211738

@dents who were present in
the Physics exarfiination from school A is 250%
of the differgrice;of the number of the students
who wege I{Jgg?'acnt in Physics and Biology
exami from school K, then what is the
ratio of tk{é number of students who were present
from school L to number of students who were
present in Physics examination from school A ?

Afz faeme A @ difas fasm =1 9fhen o faenfelai #1 den,
foemem K 9 sifas fagm ao <fg faam 31 wen o sufeem
faenfefat =t e & e #1 a’ 250% &, o faaerm L3 &
Iufeer famnferdi =t e =1 femem A © Ofas A W
wien ¥ sufted e BT 1 GEM W 1 S 87

(a) 5079:4631  (b) 1692:1547

(c) 1547:4631  (d) 1692:2345

281.

/o

140

283.

284.

Copyright © All Rights Reserved | https://spardha.guru/

Directions (281-285) : The table given below shows
the production of maize by 5 different states as a
percentage of total production. Each state
produces only maize and rice. There are three
types of rice— R1, R2 and R3. The table also shows
the R1 type of rice produced as a percentage of
total rice production and the ratio of R2 and R3
type of rice. Total production by each state is
625000.

== & 7 afersm 5 fafa= vsEi gu fofe e weh & 3CIEA
FA IAEA F uhvE ® w0 9§ <o 31 uSE T dae qaw
AN =TEe H € IARA FIA1 21 FE B @9 §FR- R1, R2 @en
R3 %1 7 Aol R1 YR & w6 & SAed $ Fol 99 &

SR % v & w9 § <vidl § 991 R2 94 R3 YK & Fiee
@mﬁmalmm@ S 625000 #
i,« "3
State /v Maize#angl R2 :R3
H 3%/ |60] 6: 11
R i\ 62% [60] 9: 10
X p|llsow leo]l 3:5
$ ™ 52% |s5] 4:5
e 74% 80| 3:10
—

¢
Wha/;;}he difference between the R1 type of
sfice produced by state X and the R2 type of rice

ﬁ%ed by state H?

‘;;mé(gmmﬁa Rl vR & 9@« a1 T4 H g Iarfed
R2 YR & 96 & A 1 A 7

(a) 115000 (b) 120000

(c) 55000 (d) 65000

What 1s the sum of the total production of maize
by state X and T and production of R2 type of Rice
by states S and R?

T X a1 T g0 9k &1 el IIEA do01 TF S @ R 31
R2 T#R & WF6l & ol SURA 1 I 87

(a) 868500 (b) 1025000

(c) 925000 (d) 892500

Production of R3 type of rice by state X is what
percentage of production of R1 type of rice by state S?

T X 5 R3 U1 & 919 &1 30964, T S 5 R1 UK
& AEE % ScaRA w1 faa wfoem @7

(a) 45.45 (b) 52.52

(c) 42.5 (d) 39.5

A = Average of the R3 type of rice produced by
stated H,R,S and X togther.

B = Difference between the R2 type of rice pro-
duced by state T and R1 type of rice produced by
state R.

What i1s the value of B — A?

A= T H,R,S 991 X 581 et Iafed R3 R & A19d
F1 el

B == T 9@ 3c0ifad R2 YR & =& a1 9 R 39

|’1223
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3T R1 &R & =/@d & He Siau
B - A% °H F1 §?
(a) 54750 (b) 56750
(c) 57500 (d) 57000
285. F=Total production of R2 type of rice by all the states.

K = Average of the total production of R1 type of
rice by all the states.

What is the value of K/F?
K/F #1 59 =41 &7

(a) 0.875 (b) 0.802
(c) 0.08 (d) 0.702

1224 ||
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=) g
g ANSWER KEY

1. (a) 30. (b) 59. (a) 88. (a) 117.(d) 146.(c) 175.(b) 204.(d) 233.(c) 260.(c)
2. ([ 31. (d) 60. (b) 89. (a) 118.(g) 147.(c) 176.(b) 205.(d) 234.(a) 261.(a)
3. (o 32. (¢ 61. (c) 90. (c) 119.(h 148.(d) 177.(d) 206.(d) 235.(b) 262.(b)
4. (d) 33. (a) 62. (b) 91. (¢ 120. (b 149.(b) 178.(d) 207.(d) 236.(c) 263.(d)
5. (d 34. (a 63. (c) 92. (c) 121.(c) 150.(c) 179.(a) 208.(b) 237.(c) 264.(b)
6. (o) 35. (d) 64. (d) 93. (a) 122. (a) 151.(b) 180.(a) 209.(c) 238 {c) 265.(b)
7. (d 36. (g 65. (c) 94. (a) 123.(c) 152.(c) 181.(b) 210.(d) 239.(c) 266.(c)
8. (g 37. (g 66. (b) 95. (b 124. (a) 153.(b) 182.(d) 211.18) 240.(b) 267.(c)
9. () 38. (b 67. (h) 96. (c) 125.(b) 154.(d) 183.(c) 212.b) 241.(c) 268.(h)
10. (g 39. (b 68. (b) 97. (b) 126.(c) 155.(d) 184.(d) 213. 1) 242.(a) 269.(a)
11. (d) 40. (b) 69. (c) 98. (c) 127. (b) 156.(d) 185. (b) 214.f8) 243.(b) 270.(d)
12. (a 41. (a) 70. (b) 99. (c) 128.(d) 157.(c) 186.(a) 215.(d) 244.(a) 271.(d)
13. (b 42, (g 71. (b) 100. (b) 129. (a) 158.(c) 187.(c) 216.(c) 245.{c) 272.(b)
14. (o) 43. (b) 72. (a) 101.(c) 130. (a) 159.(c) 188.(b) 217.(d) A A2460d) 273.(c)
15. (d) 44. (a) 73. (¢ 102. (¢) 131.(a) 160.(b) 189.(b) 218.1a), A, 247 274.(a)
16. (g) 45. (b 74. (b) 103.(d) 132.(b) 161.(b) 190.(c) 919-{01%3 :}248-{31 275.(e)
17. (9 46. (a) 75. (a) 104.(c) 133.(b) 162.(d) 191.(d) 22(?@{9))»3 249.(b) 276.(c)
18. (g 47. (b) 76. (c) 105. (a) 134.(d) 163.(a) 192. (a) 297 250.(a) 277.(a)
19. () 48. (b 77. (b) 106. (c) 135.(d) 164.(d) 193.b) ¢y 2224 251.(d) 278.(b)
20. (b) 49. (d) 78. (d) 107. (a) 136.(d) 165.(d) 194.(a) -b) 252.(c) 279.(b)
21. (d) 50. () 79. (a) 108. (c) 137.(c) 166.(b) 195./c) 24. ) 253.(c) 280.(a)
22. (d) 51. (d) 80. () 109. (a) 138.(c) 167.(c) 1964(¢) 225.(¢) 254.(d) 281.(b)
23. (b 52. (a) 81. (d) 110. (d) 139.(c) 168.(b) Te) 226.(c) 255.(a) 282.(d)
24. (d) 53. (o) 82. (o) 111.(a) 140.(q) 169.(c) 1 a) 227. ) 256.(b) 283.(a)
25. (g 54. (g) 83. (d) 112.(a) 141. () 170.(c) /] 9.(c) 228.1b) 257.(b) 284.(c)
26. (d) 55. (¢ 84. (b) 113.(b) 142. (b) 171.0) .4 200.1p) 229.(d) 258.(c) 285.(b)
27. (&) 56. () 85. (b) 114.(c) 143.(a) 172.(0). s} 201.(d) 230.(a) 259.(b)

28. (b) 57. (d) 86. (a) 115.(c) 144.(a) d}@}" 202.(a) 231.(d)

29. (b) 58. (d) 87. (o) 116.(d) 145.(a) 1744 (b) 203.(b) 232.(d)

S
.~
3{&0
q@b
&

ANS
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